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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Study Circle Career Development Institute

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm

1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U
gabrH$aU
g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi

2) Q>̧ o$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr
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(10) ‘yb ŷV g§»`mË‘H$ j‘Vm
1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr
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‘yb ŷV g§»`mË‘H$ j‘Vm ¶mda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm
Am¶moJmÀ¶m narjm

1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
3) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
4)  ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
5) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
6) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
7) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
9) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
10) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
11) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
12) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
13) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
14) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
15) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
16) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
17) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
19) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
20) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
21) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
22) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
23)  ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
24) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
25) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022

‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2022
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm , ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
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9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡ 2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡ 2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
32) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
39) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
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49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023 Aä¶mgH«$‘
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby KS>m‘moS>r - amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë` (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ́> bmoH$godm h¸$ (5)
15) ‘m{hVr d g§àofU V§ÌkmZ (10)

(1) ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3) ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) eml²dV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó (3)
3) àm{Uemó (2)
4) dZñn{Vemó (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7) Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo, {dYmZo Am{U {ZîH$f©
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, VwbZm dm ‘mZm§H$Z
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {dl²bofU, Hy$Q> ‘m{hVrdarb àíZ, g‘ñ`m gmoS>dUo
10) {dXoMm nwaonUm

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) g§»¶m, {MÝho H«$‘ Am{U ‘m{bH$m
2) dU©H«$‘ Am{U ‘m{bH$m
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) ^m¡{‘{VH$ , doZ AmH¥$Ë`m§da àl²Z
7) H«$‘nyV©Vm, à{V‘m, KZ, KS>çm, AmH¥$Ë`m§da àl²Z

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ̂ mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ̂ mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar, doZ AmH¥$Ë¶m
7) ~rOJ{UV, ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao, ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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For Private Circulation Only



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ‘yb ŷV g§»`mË‘H$ j‘Vm / 12

For Private Circulation Only



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ‘yb ŷV g§»`mË‘H$ j‘Vm / 13
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50

(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

‘yb ŷV g§»`mË‘H$ j‘Vm

‘yb ŷV g§»`mË‘H$ j‘Vm {df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo

1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi

2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘

3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh

4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO

5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ

6) g§̂ mì`Vm, H«$‘M¶, gamgar, doZ AmH¥$Vr

7) ~rOJ{UV, ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr

8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr
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(1) A§H$J{UVr¶ H$m¡eë¶ Am{U g§»`màUmbr
1) g§»`màUmbr
2) bgm{d Am{U ‘gm{d
3) KmVm§H$, dJ©‘yi Am{U KZ‘yi
4) A§H$J{UVr¶ H$m¡eë¶ -~oarO, dOm~mH$s, JwUmH$ma, ̂ mJmH$ma Am{U gabrH$aU
5) AnyUmªH$ Am{U Xem§e AnyUmªH$

1) g§»`màUmbr
1) EH$m XmoZ A§H$s g§»¶oMr 1/3 hr {VÀ¶m 1/4 nojm 8 Zo ‘moR>r Amho, Va Ë¶m g§»¶oVrb A§H$m§Mr ~oarO {H$Vr ?

1) 20 2) 13 3) 6 4) 15
1) If 1/3 of a two digit number is greater than 1/4 of it by 8, what is the sum of the digits of that

number?

1) 20 2) 13 3) 6 | 4) 15

2) 366 n¥ð>o Agboë¶m nwñVH$m§À¶m n¥ð>m§Mr g§»¶m H$aÊ¶mgmR>r dmnaë¶m OmUmè¶m EHy$U A§H$mMr g§»¶m Amho.
1) 732 2) 990 3) 1098 4) 1305

2) The total number of digits used in numbering the pages of a book having 366 pages is ,

1) 732 2) 990 3) 1098 4) 1305

3) Oa n = 1 + X Agob d X hm Mma H«$‘dma YZ nyUmªH$mMm JwUmH$ma Agob, Va gË¶ {dYmZ/Zo {ZdS>m.
A) n hr {df‘ g§»¶m ~) n hr ‘yig§»¶m H$) n hr nyU© dJ© g§»¶m S>) n hr g‘g§»¶m
n¶m©¶r CÎmao …
1) darbn¡H$s gd© 2) darbn¡H$s EH$hr Zmhr 3) ~ dJiyZ gd© 4) ’$º$ A Am{U H$

3) If n = 1 + X, where X is the product of four consecutive positive integers, then select the true

statement/s.

a) n is odd b) n is prime c) n is a perfect square d) n is even

Answer options :

1) All of the above 2) None of the above 3) All except b 4) Only a and c

4) Imbrb g§»¶m§n¡H$s {H$Vr g§»¶m§Zm 273 Zo ^mJ OmV Zmhr?
546, 1156, 3003, 3564, 5733, 3822, 9605, 8736
1) 5 2) 3 3) 4 4) 8

4) How many of the following numbers are not divisible by 273 ?

546, 1156, 3003, 3564, 5733, 3822, 9605, 8736

1) 5 2) 3 3) 4 4) 8

5) EH$m g§»¶obm 7 Zo JwUmH$ma H$ê$Z ^mJmH$ma 5 Zo H$amdm bmJVmo nU MwHy$Z 5 Zo JwUmH$ma Ho$bm Am{U 7 Zo ^mJ Ho$bm
Va CÎma 25 Amho, Va ~amo~a CÎma H$moUVo Agmdo?
1) 35 2) 12 3) 49 4) 25

5) One number has to multiply by 7 and divide by 5 but by mistake it is multiplied by 5 and divided by

7, the answer is 25, then what should be the correct answer ?

1) 35 2) 12 3) 49 4) 25
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6) Oa 357*25* ¶m g§»¶obm 3 Am{U 5 Zo ̂ mJ OmVmo, Va AZwH«$‘o EH$H$ d hOma ñWmZmgmR>r, C{MV A§H$OmoS>r {ZdS>m.
1) 0, 4 2) 5, 4 3) 5, 6 4) 0, 6

6) If the number 357*25* is divisible by both 3 and 5, then select the appropriate pair of digits in

units and thousandth place respectively.

1) 0, 4 2) 5, 4 3) 5, 6 4) 0, 6

7) 3689*5 ¶m g§»¶obm 11 Zo nyU© ^mJ OmÊ¶mgmR>r * À¶m {R>H$mUr Imbrbn¡H$s H$moUVm A§H$ Agmdm ?
1) 5 2) 9 3) 4 4) 7

7) Which digit from below should be in place of *so that 3689*5 will be completely divisible

by 11 ?

1) 5 2) 9 3) 4 4) 7

8) H$moUË¶mhr YZ nyUmªH$mbm Oa Ë¶mÀ¶m ñdV…IoarO Am{U EH$ ¶m g§»¶oIoarO H$moUË¶mhr YZ g§»¶oZo ̂ mJ OmV Zgob Va
Vmo YZ nyUmªH$ ‘yi g§»¶m AgVo.
x hm nyUmªH$ 7 nojm ‘moR>r ‘yi g§»¶m Amho Va (x2 - 1) bm .......
1) H$Yrhr 6 Zo ^mJ OmUma Zmhr.
2) Zoh‘rM 24 Zo ^mJ OmB©b.
3) Zoh‘rM 6 Zo ^mJ OmB©b Am{U H$Xm{MV 12 Zo ^mJ OmB©b qH$dm ^mJ OmUma Zmhr.
4) Zoh‘rM 12 Zo ^mJ OmB©b Am{U 24 Zo H$Xm{MV ^mJ OmB©b qH$dm OmUma Zmhr.

8) If any positive integer is not divisible by any positive integer other than itself and one it is said to

be a prime number.

Let x be the prime number greater than 7, then (x2—1) is ..................

1) never divisible by 6

2) always divisible by 24

3) always divisible by 6, and may or may not be divisible by 12

4) always divisible by 12 and may or may not be divisible by 24

9) Oa EH$m g§»¶oÀ¶m 3/7 À¶m 75% åhUOo 90 Amho Va Vr g§»¶m .........
1) 900 2) 28 3) 280 4) 180

9) If 75% of 3/7 of a number is 90 then that number is .........

1) 900 2) 28 3) 280 4) 180

10) gmn{eS>r IoiÊ¶mÀ¶m ’$memV g‘moê$Z {XgUmè¶m VrZ ~mOy§da AZwH«$‘o 2, 4, 1 ¶m g§»¶m AmhoV, Va ‘mJrb {déÕ
~mOyda AZwH«$‘o H$moUË¶m g§»¶m AgVrb ?
1) 5, 3, 6 2) 4, 2, 3 3) 6, 3, 5 4) 2, 5, 4

10) If the three front sides of the dice are 2, 4, 1 respectively, then what numbers will be on the back

opposite side respectively?

1) 5, 3, 6 2) 4, 2, 3 3) 6, 3, 5 4) 2, 5, 4
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2) bgm{d Am{U ‘gm{d
1) XmoZ g§»¶m§Mm ‘.gm.{d. 11 AgyZ d b.gm.{d. 693 Amho. Oa EH$ g§»¶m 77 Agob, Va Xwgar g§»¶m H$mT>m.

1) 63 2) 93 3) 88 4) 99
1) The GCD of two numbers is 11 and LCM is 693. If one number is 77, then find the other.

1) 63 2) 93 3) 88 4) 99

2) XmoZ g§»¶m§Mm ‘.gm.{d. 8 d b.gm.{d. 144 Amho. Ë¶mn¡H$s EH$ g§»¶m 16 Agë¶mg Xþgar g§»¶m H$moUVr ?
1) 108 2) 96 3) 72 4) 36

2) The Greatest Common Divisor of two numbers is 8 while their Least Common Multiple is 144,

Find the other number if one number is 16.

1) 108 2) 96 3) 72 4) 36

3) XmoZ g§»¶m§Mm bgm{d d ‘gm{d AZwH«$‘o 432 d 72 Amho. Oa EH$ g§»¶m 216 Agob Va Xþgar g§»¶m H$mT>m.
1) 72 2) 144 3) 48 4) 36

3) The LCM and HCF of two numbers are 432 and 72 respectively. If one of the number i is 216 then

find another number.

1) 72 2) 144 3) 48 4) 36

3) KmVm§H$, dJ©‘yi Am{U KZ‘yi
1) H$YrM nyU© dJ© AgUma Zmhr amer {ZdS>m Á¶mV ..... hr Z¡g{J©H$ g§»¶m Amho.

(a) 5n - 1 (b) 5n + 1 (c) 8n + 1 (d) 3n + 1

n¶m©¶r CÎmao …
1) gd© 2) EH$hr Zmhr 3) ’$º$ (a) Am{U (b) 4) ’$º$ (c)

1) Select expressions that will never be perfect square where n is a natural number.

(a) 5n - 1 (b) 5n + 1 (c) 8n + 1 (d) 3n + 1

Answer options :

1) All 2) None 3) Only (a) and (b) 4) Only (c)

2) Imbrb nXmdbrMo ‘yë¶ H$mT>m :

1) 7 2) 2 3) 2 4) 14
2) Find the value of ....

1) 7 2) 2 3) 2 4) 14
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3) Imbrb g§»¶oMm JwUmH$ma ì¶ñV gm§Jm.

1) 81/16 2) 3/2 3) 8/27 4) 4/9
3) Find the multiplicative inverse of the following.

1) 81/16 2) 3/2 3) 8/27 4) 4/9

4) Oa (16)2 × (8m)2 = 226, Va m = ?
1) 4 2) 3 3) 7 4) 5

4) If (16)2 × (8m)2 = 226, then m = ?

1) 4 2) 3 3) 7 4) 5

5) {(82 + 152)1/2}3 = ......
1) 289 2) 4913 3) 4624 4) 4813

5) {(82 + 152)1/2}3 = ......

1) 289 2) 4913 3) 4624 4) 4813

6) Oa 125* = 625 Agob, Va a Mr qH$‘V {H$Vr.
1) 4/3 2) 3/4 3) 2/3 4) 3/2

6) If 125* = 625, then find the value of a.

1) 4/3 2) 3/4 3) 2/3 4) 3/2

7) 5650 ¶m g§»¶oV H$moUVr H$‘rV H$‘r g§»¶m {‘i{dbr Va Vr nyU©dJ© g§»¶m hmoB©b ?
1) 200 2) 126 3) 300 4) 540

7) What is the smallest number obtained in the number 5650 that will be a perfect square number?

1) 200 2) 126 3) 300 4) 540

8) qH$‘V H$mT>m. 26 - 34 + 72 + 43

1) 96 2) 69 3) 70 4) 17
8) Draw the price. 26 - 34 + 72 + 43

1) 96 2) 69 3) 70 4) 17

4) A§H$J{UVr¶ H$m¡eë¶ - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU
1) XmoZ g§»¶m§Mr ~oarO 50 Amho. Ë¶m§À¶mVrb ’$aH$ 22 Amho, Va Ë¶mVrb bhmZ g§»¶m H$moUVr ?

1) 28 2) 14 3) 05 4) 30
1) If the sum of two number is 50 and their difference is 22, then the smaller number is ?

1) 28 2) 14 3) 05 4) 30
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2) XmoZ g§»¶m§Mr ~oarO 85 Amho d Ë¶m§Mr dOm~mH$s 15 Amho Va Ë¶m g§»¶m§Mo JwUmoÎma {H$Vr ?
1) 10 … 7 2) 5 … 3 3) 27 … 5 4) 5 … 1

2) If addition and substraction of two numbers are 85 and 15 respectively then what is the ration

of these two numbers ?

1) 10 : 7 2) 5 : 3 3) 27 : 5 4) 5 : 1

3) EH$m g§»¶oV {VÀ¶m 40% {‘i{dbo Va 70 hr g§»¶m {‘iVo Va Vr g§»¶m H$moUVr ?

1) 140 2) 50 3) 40 4) 70
3) If 40% of a number is 70 then what is the number?

1) 140 2) 50 3) 40 4) 70

4) XmoZ g§»¶m§Mo JwUmoÎma 3 : 4 ¶m à‘mUmV AmhoV d Ë¶m§À¶m dJm©Mr ~oarO Oa 400 Agob Va Ë¶m g§»¶m H$moUË¶m ?
1) 12, 16 2) 9, 12 3) 6, 8 4) 15, 20

4) If the ratio of two numbers is 3 : 4 and the sum of their Squares is 400, then which are these

numbers?

1) 12, 16 2) 9, 12 3) 6, 8 4) 15, 20

5) XmoZ H«$‘dma g§»¶m§À¶m dJm©Vrb ’$aH$ 31 Amho Va Ë¶m g§»¶m H$moUË¶m ?
1) 13 d 14 2) 14 d 15 3) 15 d 16 4) 16 d 17

5) If difference between square of two consecutive numbers is 31 then which of these numbers?

1) 13 and 14 2) 14 and 15 3) 15 and 16 4) 16 and 17

6) EH$m g§»¶oÀ¶m 31% Am{U 13% ¶m§Vrb ’$aH$ 576 Amho, Va Vr g§»¶m H$moUVr ?
1) 3200 2) 2300 3) 5300 4) 4500

6) The difference between 31% of a number and 13% of the same number is 576, then the number

is ...........

1) 3200 2) 2300 3) 5300 4) 4500

7) XmoZ H«$‘dma g§»¶m§Mm JwUmH$ma 4692 Amho Va Ë¶mVrb bhmZ g§»¶m H$moUVr ?
1) 66 2) 63 3) 68 4) 73

7) If product of two consecutive number is 4692 then which is smallest number among then

1) 66 2) 63 3) 68 4) 73

8) EH$ Z¡g{J©H$ g§»¶m d {VMr JwUmH$ma ì¶ñV g§»¶m ¶m§Mr ~oarO 50/7 Agob Va Vr g§»¶m H$moUVr ?
1) 7 2) 8 3) 9 4) 3

8) A sum of natural number and its multiplicative inverse is 50/7. What is a natural number ?

1) 7 2) 8 3) 9 4) 3

9) EH$m g§»¶obm 7 Zo JwUyZ 5 Zo ^mJmd¶mMo hmoVo; na§Vw Ë¶mEodOr MwHy$Z 5 Zo JwUyZ 7 Zo ^mJ {Xbm Voìhm CÎma 25 Ambo
Va Iao CÎma H$m¶ Agbo nm{hOo?
1) 35 2) 12 3) 49 4) 25
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9) A number is to be multiplied by 7 and divided by 5; But instead, if the answer is 25 when dividing

by 5 by mistake, what must be the true answer?

1) 35 2) 12 3) 49 4) 25

10) gmoS>dm … 

1) 96 2) 9.6 3) - 9.6 4) 6.9

10) Solve : 

1) 96 2) 9.6 3) -9.6 4) 6.9

5) AnyUmªH$ Am{U Xem§e AnyUmªH$
1) Imcrcn¡H$s H$moUVm n¶m©¶ hm CVaË¶m H«$‘mZo {c{hcocm Amho ?

1) 5/8, 9/13, 11/17 2)5/8, 11/17, 9/13
3) 9/13, 11/17, 5/8 4)11/17, 9/13, 5/8

1) Which of the following is in descending order ?

1) 5/8, 9/13, 11/17 2) 5/8, 11/17, 9/13

3) 9/13, 11/17, 5/8 4) 11/17, 9/13, 5/8

2) EH$m AnyUmªH$mMm N>oX Ë¶mÀ¶m A§emnojm 5 Zo ‘moR>m Amho. Ë¶m AnyUmªH$mÀ¶m A§em‘Ü¶o 8 {‘idbo d N>oXmVyZ 1 dOm

Ho$ë¶mg  15  hm AnyUmªH$ {‘iVmo. Va ‘yiMm AnyUmªH$ H$moUVm?
         11

1) 
3 .

2) 
11 .

3) 
 7  .

4) 
1 .

    8     15     12     6
2) The denominator of a fraction is greater than the numerator by 5. If 8 is added to the numerator

and 1 is subtracted from the denominator, the value of the fraction obtained is 11/15 fraction is

The original ........

1) 
 3 .

2)
  11 .

3) 
 7 .

4)
  1 .

      8      15     12       6

3) Oa 1/4, 1/3, 3/5, 7/8 Am{U 5/9 ho AnyUmªH$ MT>Ë¶m H«$‘mZo bmdbo, Va n{hë¶m d eodQ>À¶m AnyUmªH$m§Mr ~oarO
{H$Vr ?
1) 2/3 2) 5/13 3) 9/8 4) 29/24

3) If we arrange the fractions 1/4, 1/3, 3/5, 7/8 and 5/9 in increasing order, then what is the sum of

first and last fractions ?

1) 2/3 2) 5/13 3) 9/8 4) 29/24

4) Oa
  7 ,  5 ,  3 ,  1  Am{U  1 

 ho AnyUmªH$ MT>Ë¶m H«$‘mUo bmdbo Va n{hë¶m d eodQ>À¶m AnyUm©H$m§Mr
      8     9     5     4         3
~oarO {H$Vr ?
1) 2/3 2) 9/8 3) 29/24 4) 5/13



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ‘yb ŷV g§»`mË‘H$ j‘Vm / 30
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4) If we arrange the fractions  7 ,  5 ,  3 ,  1  and  1  in increasing order then what is sum
      8    9   5   4       3

of first and last fraction ?

1)  2/3 2) 9/8 3) 29/24 4) 5/13

5)
      1      

 + 
      1      

 - 
      1      

 Mr qH$‘V .......... Amho.
 856 × 592     856 × 264     592 × 264

1) 
      1      .

2) 
      1      .

3) 0 4) 1
    856 × 592      856 × 92

5) The value of 
           1          + 

           1           - 
           1          

 is ..............
                    856 × 592         856 × 264          592 × 264

1)
            1         .

2) 
           1         .

3) 0 4) 1
       856 × 592         856 × 92

6) Imbrbn¡H$s gdm©V ‘moR>r g§»¶m H$moUVr ?
1) 280.98 2) 280.99 3) 280.100 4) 280.101

6) Which of the following is the largest number ?

1) 280.98 2) 280.99 3) 280.100 4) 280.101

7) 0.77777 ......... hm AmdVu Xem§e AnyUmªH$ p/q ñdê$nmV {bhm.
1) 14/9 2) 77/100 3) 7/9 4) 7/10

7) Write following recurring decimal fraction into P/q form 0-77777......

1) 14/9 2) 77/100 3) 7/9 4) 7/10

8) g§{já ê$n {ZdS>m.
  0.1   

 +
  0.01  

 = ?
 0.01         0.1

1) 1.01 2) 1.10 3) 10.01 4) 10.10
8) Choose an abbreviation.

  0.1   
 +

  0.01  
 = ?

 0.01         0.1

1) 1.01 2) 1.10 3) 10.01 4) 10.10

9)  18.84 × 12.56  
×

  21.98  
÷

  9.42 × 3.14  = ?
      6.28          15.70        25.12

1) 11.2 2) 22.4 3) 33.6 4) 44.8

9)  18.84 × 12.56  
×

  21.98  
÷

  9.42 × 3.14  = ?
      6.28          15.70        25.12

1) 11.2 2) 22.4 3) 33.6 4) 44.8
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For Private Circulation Only

2) Q>̧ o$dmar, m̂JrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
1) Q> o̧$dmar
2) JwUmoÎma Am{U à‘mU
3) {‘lU Am{U gmIir {Z`‘
4) ^mJrXmar Am{U Jw§VdUyH$

1) Q>̧ o$dmar
1) 7 … 3 Ago H$‘©Mmè¶m§Mo ì¶dñWmnH$mer à‘mU Agboë¶m EH$m H$maImÝ¶mVrb 70% H$‘©Mmar d 30% ì¶dñWmnH$ H|$Ðo

‘Ü¶o OodU KoVmV. Va H°$ÝQ>rZ ‘Ü¶o OodU KoUmè¶m§Mo EHy$U à‘mU {H$Vr % Amho ?
1) 100% 2) 58% 3) 95% 4) 45%

1) The ratio of employee to manager is 7 : 3, 70% of the employees and 30% of the managers

take lunch in the canteen. What % of total work force takes lunch in canteen ?

1) 100% 2) 58% 3) 95% 4) 45%

2) ZohmMm nJma AJmoXa 10 % Zr H$‘r Ho$bm d Z§Va VoOr‘wio Vmo 30 % Zr dmT>dbm Va ‘yiÀ`m nJmamV {H$Vr Q> o̧$ dmT>
Pmbr ?
1) 17 2) 20 3) 19 4) 18

2) Neha’s salary was first reduced by 10% and then increased by 30% due to upturn. So what percent

increase in original salary ?

1) 17 2) 20 3) 19  4) 18

3) X Mo 12
 1 

% ~amo~a 2500 Mo 8% Va X Mr qH$‘V {H$Vr ?
          2
1) 1200 2) 1400 3) 1600 4) 1800

3) 12 1 % of X is equal to 8% of 2500, find X.
      2

1) 1200 2) 1400 3) 1600 4) 1800

4) 3 Mm¡H$ma d 8 fQ>H$ma {‘iyZ 110 Ymdm Ho$boë¶m ’$b§XmOmÀ¶m niyZ H$mT>boë¶m Ymdm§Mr Q> o̧$dmar {H$Vr?

1) 45% 2) 45   5   % 3) 54  6  % 4) 55%
         11         11

4) A batsman scored 110 which included 3 boundaries and 8 sixes. What percentage of his total

scored did he make by running between the wickets ?

1) 45% 2) 45   5  % 3) 54    6   % 4) 55%
           11             11

5) EH$m {d‘mZmV 500 àdmgr hmoVo. Ë¶mn¡H$s 45% nwéf d 20% ‘wbo hmoVr Va ór àdmí¶m§Mr g§»¶m {H$Vr?
1) 175 2) 150 3) 166 4) 180

5) An airplane carries 500 passengers, 45% men and 20% are children. Then the number of women

in the airplane is :

1) 175 2) 150 3) 166 4) 180



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ‘yb ŷV g§»`mË‘H$ j‘Vm / 32
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6) EH$m narjo‘Ü¶o 35% {dÚmWu nmg PmboV d 455 {dÚmWu Zmnmg Pmbo. Va Ë¶m narjobm EHy$U {H$Vr {dÚmWu ~gbo
hmoVo?
1) 490 2) 700 3) 845 4) 1300

6) In an examination, 35% of the students passed and 455 students failed. How many students ap-

peared for the examination ?

1) 490 2) 700 3) 845 4) 1300

7) ~mJoMo àdoe ewëH$ 35% Zo H$‘r Ho$ë¶m‘wio ¶oUmè¶m àdmem§Mr g§»¶m 40% Zo dmT>cr. Va àdoe ewëH$m‘wio CËnÞmV
hmoUmam ~Xc hm :
1) 7% H$‘r Pmcm 2) 9% dmT>cm 3) 9% H$‘r Pmcm 4) 5% H$‘r Pmcm

7) On reducing the entry fee by 35 % in a park, the number of visitors increased by 40 %. Then the

percent increase or decrease in the income from the entry fee is ...........

1) 7% decrease 2) 9 % increase 3) 9 % decrease 4) 5% decrease

8) XmoZ C‘oXdma AgUmè¶m EH$m {ZdS>UwH$sV 135 ‘Vo Ad¡Y R>abr. ¶eñdr C‘oXdmambm d¡Y ‘Vm§À¶m 70% ‘Vo {‘imbr
Am{U Vmo 40000 ‘Vm§Zr {dO¶r Pmbm. Va EHy$U {H$Vr ‘VXmZ Pmbo?
1) 100135 2) 470135 3) 100000 4) 170135

8) In an election involving two candidates 1385 votes were invalid. The winning candidate got 70%

of the valid votes and won by 40000 votes. Find the total votes.

1) 100135 2) 470135 3) 100000 4) 170135

9) Ka ‘mbH$mZo KamMo ‘m{gH$ ^mS>o 10% dmT>dbo. nyduMo ^mS>o 470 é. Agë¶mg gÜ¶mMo ^mS>o {H$Vr ?
1) 477 2) 516 3) 517 4) 617

9) A house owner increases the monthly rent of a house by 10%. Earlier rent was Rs.470. If so, how

much is the current rent?

1) 477 2) 516 3) 517 4) 617

10) narjoV CÎmrU© åhUyZ Kmo{fV hmoÊ`mgmR>r {dÚmÏ`m©bm EHy$U JwUm§n¡H$s 280 JwU {‘iUo Amdûm`H$ Amho. ho‘mbm 264 JwU
{‘imbo AgyZ Vr 2 Q> ²̧$`m§Zr Zmnmg Pmbr Amho. narjoVrb CÎmrU©VoMr {H$‘mZ Q> o̧$dmar {H$Vr Amho?
1) 33% 2) 35% 3) 40% 4) 45%

10) In order to be declared as pass in an examination, a student is required to get 280 marks out of the

aggregate marks. Hema got 264 marks and declared fail by 2 percent. What is the minimum

passing percentage of the examination?

1) 33% 2) 35% 3) 40% 4) 45%

11) {ZdS>UwH$sV EH$m C‘oXdmambm 35% ‘Vo {‘iVmV Am{U Xwgè`m C‘oXdmamH$Sy>Z 450 ‘Vm§À`m ’$aH$mZo nam ŷV hmoVmo.
EHy$U ‘Vm§Mr g§»`m emoYm.
1) 1500 2) 1550 3) 1000 4) 850

11) In an election a candidate secures 35% votes and is defeated by the other candidate by a margin of

450 votes. Find the total number of votes.

1) 1500 2) 1550 3) 1000 4) 850
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2) JwUmoÎma Am{U à‘mU
1) EH$m emioVrb ‘wbr d ‘wbo ¶m§Mo JwUmoÎma 4 … 5 Ago Amho. ‘wbtMr g§»¶m 76 Agob Va ‘wbo {H$Vr?

1) 85 2) 95 3) 105 4) 115
1) In a school, the ratio of girls to boys is 4 : 5. If there are 76 girls find the number of boys.

(1) 85 (2) 9S (3) 105 (4) 115

2) EH$m {nedr‘Ü¶o 5 … 9 … 4 À¶m à‘mUmV 50 n¡go, 25 n¡go Am{U 10 n¡em§Mr ZmUr AmhoV, Á¶mMr EHy$U a¸$‘ é.206
hmoVo. {nedrVrb EHy²$U ZmÊ¶m§Mr g§»¶m Amho.
1) 660 2) 700 3) 720 4) 740

2) A bag contains 50 paise, 25 paise and 10 paise coins in the ratio 5 : 9 : 4 amounting to = 206. The

total number of coins in the bag is

1) 660 2) 700 3) 720 4) 740

3) EH$m g§J«hmb¶mV H$mhr njr AmhoV. ¶mVrb ZD$ njr Vwaodmbo Va Xhm njr {R>nHo$dmbo AmhoV. ¶mVrb H$mhtZm Vwao VgoM
{R>nHo$hr AmhoV. g§J«hmb¶mVrb {ndù¶m gmV nú¶m§n¡H$s àË¶oH$ nú¶mbm EH$Va Vwam Amho qH$dm {R>nHo$ AmhoV,
g§J«hmb¶mVrb Mma bmb nú¶m§n¡H$s gdmªZm {R>nHo$ AmhoV. ¶m g§J«hmb¶mVrb nú¶m§Mr e³¶ Agbobr {H$‘mZ g§»¶m
{ZdS>m.
1) 19 2) 17 3) 15 4) 10

3) In an aviary there are a certain number of birds. Nine are crested birds and ten are spotted birds.

Some of these have crests as well as spots. Of the seven yellow birds in the aviary, each one only

has either crest or spots. Of the four red birds in the aviary all have sports only. Select the minimum

possible number of birds that are there in the aviary.

1) 19 2) 17 3) 15 4) 10

4) EH$ a¸$‘ A, B, C, D ‘Ü¶o AZwH«$‘o 5 : 2 : 4 : 3 ¶m à‘mUmV {d^mJmd¶mMr Amho. Oa C bm D nojm é.1000 OmñV
{‘imbo, Va B Mm dmQ>m {H$Vr Agob ?
1) é. 500 2) é. 1500 3) é. 2000 4) é. 2500

4) Some amount is to be distributed among A, B, C, D in the proportion of 5 : 2 : 4 : 3 respectively.

If C gets Rs.1000 more than D, what is the share of B ?

1) Rs.500 2) Rs.1500 3) Rs.2000 4) Rs.2500

5) ‘hm{dÚmb¶rZ H$bm nXdrYam§Mo {dkmZ nXdrYam§er Agbobo JwUmoÎma 3…2 Amho. Oa 20% H$bm nXdrYa Am{U 25%
{dkmZ nXdrYa nwT>rb {ejUmgmR>r nmÌ R>aob AmhoV; Va nmÌ Zgboë¶m§Mr Q> o̧$dmar {ZdS>m.
1) 22 2) 60 3) 72 4) 78

5) In a college, the ratio of arts graduate to science graduate is 3 : 2. If 20% arts graduates and 25%

science graduates qualify for further studies; select the percentage of non-qualificrs.

1) 22 2) 60 3) 72 4) 78

6) EH$m emioVrb 2003 Vo 2008 ¶m ghm dfm©À¶m H$mbmdYrV CÎmrUmªMr Q> o̧$dmar AZwH«$‘o 45, 56, 42, 61, 55 Am{U
52 Aer Amho. 2003 Vo 2008 ¶m H$mimV ¶m narjobm ~gUmè¶m {dÚmÏ¶mªMo à‘mU 2 … 3 … 4 … 3 … 2 … 3 Ago
Agë¶mg ghm dfm©Mr CÎmrUmªMr EH${ÌV Q> o̧$dmar {H$Vr Agob ?
1) 51.5% 2) 47.5% 3) 55% 4) 42.5%
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6) Pass percentage of a school for six years starting from 2003 to 2008 are 45, 56, 42, 61, 55 and

52 respectively. If the ratio of students who appeared for the examination im the years 2003 to

2008 are 2:3:4:3:2:3, then the pass percentage of the school in the six years together is :

1) 51.5% 2) 47.5% 3) 55% 4) 42.5%

7) 'A' Am{U 'B' À¶m d¶mMo JwUmoÎma 2 … 5 Amho. Ë¶m§À¶m d¶mMr ~oarO 63 Agë¶m 'A' Mo d¶ H$m¶?
1) 21 2) 16 3) 18 4) 27

7) The age ratio of ‘A’ & ‘B’ is 2: 5. If the sum of their ages is 63, What is the age of A ?

1) 21 2) 16 3) 18 4) 27

8) JQ>mV EHy$U 15 ì¶{º$ AmhoV. Ë¶mVrb, 7 ì¶º$s ’«|$M, 8 ì¶º$s ñn°{Ze ^mfm ~mobVmV. 3 ì¶º$s EH$hr naXoer ^mfm
~mobV ZmhrV. gd© ì¶º$s¨Vrb ¶m XmoÝhr ~mobUmè¶m ì¶º$s¨Mm ^mJ {ZdS>m.
1) 4/5 2) 3/5 3) 2/5 4) 1/5

8) There are total 15 persons in the group. 7 speak French and 8 speak Spanish. 3 do not speak any

foreign language, Select the part of total persons who speak bot these languages.

1) 4/5 2) 3/5 3) 2/5 4) 1/5

9) Q>monbr 'A' d 'B' ‘Ü¶o R>odboë¶m ’$im§Mo JwUmoÎma 7 … 9 Amho. Oa 'A' Q>monbrVrb 6 ’$io 'B' Q>monbrV R>odbr Va Ë¶mMo
AZwH«$‘o JwUmoÎma 1 … 3 hmoVo. Va 'A' d 'B' Q>monë¶mV {‘iyZ EHy$U ’$io {H$Vr AmhoV?
1) 28 2) 32 3) 36 4) 40

9) The number of fruits in a basket ‘A’ and ‘B’ are in the ratio 7 : 9. If 6 fruits are taken out from ‘A’

and put in ‘B’,.then the ratio becomes 1: 3. The total number of fruits in ‘A’ and ‘B’ is: -

1) 28 2) 32 3) 36 4) 40

10) VrZ {‘Ìm§Zr Ë`m§À`m d¡̀ {º$H$ nwñVH$m§Mm g§J«h dmnê$Z Ë`m§À`m {‘Ìm§gmR>r EH$ gmam§e bm`~«ar MmbdÊ`mMm {ZU©̀  KoVbm.
"A" Zo "B" À`m nwñVH$m§BVHo$ 2/3 ̀ moJXmZ {Xbo Am{U "B" Zo "C" À`m nwñVH$m§n¡H$s 1/2 ̀ moJXmZ {Xbo. nwñVH$m§À¶m
g§J«hmV "B" Ûmao {Xbm OmUmam dmQ>m {H$Vr ?
1) 1/3 2) 3/11 3) 12/13 4) 6/8

10) Three friends decided to run a summar library for their friends using their personal collection of

books. "A" contributed 2/3 as many as B's books and "B" contributed 1/2 as many as C's books.

What fraction of books are contributed by "B"?

1) 1/3 2) 3/11 3) 12/13 4) 6/8

11) A Am{U B ¶m§À¶m AmOÀ¶m d¶mMo JwUmoÎma 2 … 1 Amho. 6 dfm©nydu Ë¶m§À¶m d¶mMo JwUmoÎma 9 … 4 hmoVo Va A Mo AmOMo
d¶ H$mT>m.

1) 60 df} 2) 50 df} 3) 40 df} 4) 45 df}
11) The ratio of present ages of A and E is 2 : 1. If the ratio of their ages 6 years ago was 9 : 4, find A's

age today.

1) 60 years 2) 50 years 3) 40 years 4) 45 years
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12) ‘mohZ Am{U amohZ ¶m§À¶mV H$mhr a¸$‘ 4 … 7 ¶m à‘mUmV {d^mJbr. Oa amohZMm 4,900 én¶o ^mJ Agob Va EHy$U
a¸$‘ {H$Vr ?
1) 7,700 é. 2) 2,800 é. 3) 3,800 é. 4) 4,400 é.

12) Some money is divided between Mohan and Rohan in the ratio of 4 : 7. If Rohan's share is Rs

4,900 then what is the total amount?

1) 7,700 Rs. 2) 2,800 Rs. 3) 3,800 Rs. 4) 4,400 Rs.

3) {‘lU Am{U gmIir {Z`‘
1) 8 ^mJ agm¶Z A Am{U 3 ^mJ nmUr ¶m§Mo {‘lU Ho$bo Amho. Oa Ë¶mV 26 {bQ>a nmUr KmVbo Va {‘lUmVrb agm¶Z

A ho Ë¶mVrb nmÊ¶mÀ¶m {Zå‘o hmoVo. ¶m {‘lUmVrb agm¶ZmÀ¶m crQ>aMr g§»¶m {ZdS>m.
1) 16 2) 12 3) 14 4) 18

1) A mixture is composed of 8 parts of chemical A and 3 parts of water. After adding 26 liters of

water if the mixture contains chemical A one half as much as water. Select the number of liters of

chemical A that it contains.

1) 16 2) 12 3) 14 4) 18

2) MhmgmR>r ~Zdboë¶m XÿY d nmÊ¶mÀ¶m {‘lUmMo JwUmoÎma 5…1 Amho. ¶mV 5 brQ>a nmUr KmVbo Va ho JwUmoÎma 5…2 Ago
hmoVo. ¶m {‘lUmVrb XþYmMr amer {ZdS>m.
1) 15 br. 2) 25 br. 3) 20 br. 4) 10 br.

2) A mixture for making tea contains milk and water in the ratio 5: 1. On adding 5 liters of water the

ratio of milk and water became 5: 2. Select the quantity of milk in this mixture.

1) 15 It. 2) 25 lit. 3) 20 lit. 4) 10 lit.

4) ^mJrXmar Am{U Jw§VdUyH$
1) {à¶m d emaXm ¶m§Zr àË¶oH$s é. 1,50,000/- d é. 2,40,000/- Jw§VdyZ EH$ ì¶dgm¶ Mmby Ho$bm. dfm©À¶m eodQ>r

é. 65,000/- ’$m¶Xm Pmbm Va Vmo XmoKt‘Ü¶o dmQ>m.
1) é. 30,000/- Am{U é. 35,000/- 2) é. 5,000/- Am{U é. 60,000/-
3) é. 25,000/- Am{U é. 40,000/- 2) é. 32,000/- Am{U é. 33,000/-

1) Priya and Sharada started a business by investing @ 1,50,000/- and & 2,40 ,000/ - respectively.

Distribute the year end profit of = 65,000/- among them.

(1) % 30,000/- and Z 35,000/- (2) %5,000/- and Z 60,000/-

(3) % 25,000/- and % 40,000/- (4) © 32,000/- and & 33,000/-

2) B H$S>o C nojm é.5 A{YH$ AmhoV. A Odi B nojm é.14 A{YH$ AmhoV. ¶m {VKm§H$S>rb n¡go g‘mZ hmoVrb Aer XodmU-
KodmU {ZdS>m.
1) A hm B bm é. 6 XoB©b Am{U B hm C bm é. 3 XoB©b.
2) A hm B bm é. 6 XoB©b Am{U C bm A H$Sy>Z é. 6 {‘iVrb.
3) A hm C bm é. 8 XoB©b Am{U B bm A H$Sy>Z é. 3 {‘iVrb.
4) A hm C bm é. 2 XoB©b Am{U B hm C bm é. 5 XoB©b.
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2) B has Rs.5 more than C. A has Rs.14 more than B. Select the transaction that makes equal money

to all the three.

1) A gives Rs.6 to B and B gives Rs.3 to C.

2) A gives Rs.3 to B and C receives Rs.6 from A.

3) A gives Rs.8 to C and B receives Rs.3 from A.

4) A gives Rs.2 to C and B gives Rs.5 to C.

3) ‘oKmZo EH$m ñnYm© narjoV 100 àíZ gmoS>{dbo. ~amo~a CÎmamgmR>r 3 JwU {Xbo OmVmV Am{U MwH$sÀ¶m CÎmamgmR>r 2 JwU
dOm Ho$bo OmVmV. ‘oKmbm EHy$U 150 JwU {‘imbo, Va {VÀ¶m ~amo~a CÎmam§Mr g§»¶m {H$Vr ?
1) 50 2) 60 3) 70 4) 75

3) In a Competitive Examination, Megha solved 100 questions. For correct answers 3 marks are

allotted and for wrong answers 2 marks are deducted. If Megha scored 150 marks, then find her

number of correct answers.

1) 50 2) 60 3) 70 4) 75

4) EH$m ñnYm© narjoV F$U JwUXmZ Amho. EH$ àíZ gmoS>dë¶mg 5 JwU Va EH$ àíZ MwH$sMm gmoS>dë¶mg -2 JwU {‘iVmV.
amo{hVZo 50 àíZ gmoS>dbo Ë¶mbm 145 JwU {‘imbo Va Ë¶mZo {H$Vr àíZ ~amo~a gmoS>dbo ?
1) 13 2) 15 3) 35 4) 45

4) There is negative marking system in a competitive exam. If a question is right it gets 5 marks

and a question is wrong it gets - 2 marks. Rohit attempted 50 question and he got 145 marks.

How many right questions did he solve ?

1)  13 2) 15 3) 35 4) 45

5) EH$ ^º$ ‘§{XamV Xe©Zmcm Jocm AgVm, Ë¶mZo àË¶oH$ nm¶arda H«$‘m§H$mEdT>r ’w$co R>odcr. Xodmcm 9 ’w$co dm{hcr, Voìhm
Ë¶mÀ¶mH$S>o 17 ’w$co {e„H$ am{hcr. Oa ‘§{Xamcm 24 nm¶è¶m AgVrc, Va Ë¶m ^º$mOdi {H$Vr ’w$co hmoVr ?
1) 415 2) 362  3)346 4) 326

5) A devotee, while going to pray in the temple, put flowers on each step that indicated its number.

When he offered 9 flowers to God, he had 17 flowers in balance. If the temple had 24 steps, then

how many flowers did the devotee have ?

1) 415  2) 362  3) 346 4) 326
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3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
1) doJ, doi Am{U A§Va
2) aoëdoJmS>çm
3) ~moQ> Am{U Obàdmh

1) doJ, doi Am{U A§Va
1) gmo‘m nyd}H$S>o 10 km MmbV Jobm. Ë¶mZ§Va diyZ X{jUoH$S>o 2km Jobm. Vmo nwÝhm diyZ nyd}H$S>o 2 km Jobm. Ë¶mZ§Va

Vmo diyZ CÎmaoH$S>o 7 km Jobm. Va Ë¶mÀ¶m gwédmVrÀ¶m ñWmZmnmgyZ Vo gÜ¶mÀ¶m pñWVrÀ¶m ñWmZmn¶©§VMo A§Va
........... Amho.
1) 13 km 2) 18 km 3) 20 km

4) {Xboë¶m ‘m{hVrÀ¶m AmYmao H$mT>Uo eŠ¶ Zmhr.
1) Soma moves 10 km to East and then turns to South and moves 2 km. He again turn East and walks

2 km. After this, he turns to North and walks 7 km. Then the distance from his starting point to the

present point is .

1) 13 km 2) 18 km

3) 20km 4) Can not be determined from the given data

2) {Z¶{‘V A§Vamda {Xì¶mMo Im§~ Agboë¶m añË`mdê$Z EH$ ì¶º$s Mmbbr Amho. n{hë¶m Im§~mnmgyZ Mm¡Ï¶m Im§~mn¶ªV
nmohmoMÊ¶mg ì¶º$sbm 6 {‘{ZQ>o bmJVmV. Oa ¶mM JVrZo hr ì¶º$s gVV 20 {‘{ZQ>o Mmbbr Va Vr {H$Vì¶m ñV§̂ mnmer
Agob ?
1) 10 ì¶m 2) 11 ì¶m 3) 12 ì¶m 4) 9 ì¶m

2) A person walks along a road having lamp post at regular intervals. He took 6 minutes to walk from

the first to fourth lamp post. At which lamp post would the person be if he walked continuously at

a constant rate for 20 minutes ?

1) 10th 2) 11th 3) 12th 4) 9th

3) AmR>dS>çmMr gwQ>r dJiVm gmo‘dma Vo ewH«$dma Xa {Xder ZmZy ~mBH$ñdmar H$aVmo. H$m‘mÀ¶m {R>H$mUr Om-¶o H$aVmZm Vmo
20 {H$‘r A§Va H$mnVmo. ~mam AmR>dS>çmZ§Va Ë¶mÀ¶m dmhZmZo 9000 {H$‘r àdmg Zm|Xdbm. Va ~mam AmR>dS>çmÀ¶m
H$mbmdYrV H$m‘mda OmVm-¶oVm Ho$boë¶m àdmgmì¶{V[aº$ ZmZyZo Ho$bobm àdmg Xe©dUmam n¶m©¶ {ZdS>m.
1) 1600 2) 1400 3) 1800 4) 1200

3) Nanu drives/rides bike every day from Monday through Friday except weekend. He covers distance

120 km while travelling to and from work place. After twelve weeks his vehicle recorded 9000

km SS travel. Select number that indicates the distance travelled by Nanu apart from his ride to

and from work during twelve weeks.

1) 1600 2) 1400 3) 1800 4) 1200

4) O¶m d {H$‘ ¶m XmoZ n°ameyQ>g©Zr {d‘mZmVyZ Vo EH$ EH$H$ C§Mrda AgVmZm CS>çm ‘maë¶m. CS>çm KoVmM XmoKm§À¶m N>Í¶m
CKS>ë¶m. O¶mMm O{‘Zrda ¶oÊ¶mMm doJ Vmer 10 EH$H$ Amho. {H$‘ O¶mÀ¶m VwbZoV VrZnQ> ‘§X JVrZo O{‘Zrda ¶oV
Amho. O¶m O{‘Zrda CVaë¶mZ§Va {OV³¶m doimZ§Va {H$‘ Imbr ¶oB©b Vmo Xe©dUmam n¶m©¶ {ZdS>m.
1) 3 {‘{ZQ>o 2) 6 {‘{ZQ>o 3) 9 {‘{ZQ>o 4) 12 {‘{ZQ>o
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4) Jaya and Kim are two parachutist jump from the plane at an altitude of one unit. Their parachutes

opened immediately. Jaya is coming down at the speed of 10 units per hr and cm rik after ‘Jaya

three times slower than Jaya. Select the option that indicates the time of landing by Kim after

Jaya.

1) 3 minutes 2) 6 minutes 3) 9 minutes 4) 12 minutes

5) EH$ ‘mUyg ‘w§~B©hÿZ nwÊ¶mbm 4 {H$‘r à{V Vmg ¶m doJmZo OmVmo Am{U 6 {H$‘r à{V Vmg doJmZo naV ¶oVmo. Va Ë¶mMm
EHy$U àdmgmMm gamgar doJ {H$Vr?
1) 4.8 {H$‘r/Vmg 2) 5 {H$‘r/Vmg 3) 4.2 {H$‘r/Vmg 4) 5.6 {H$‘r/Vmg

5) A man goes to Mumbai from Pune at a speed of 4 km/hr and returns to Pune at 6 km/hr. What is

his average speed of the entire journey ?

1) 4.8 km/hr 2) 5 km/hr 3) 4.2 km/hr 4) 5.6 km/hr

6) EH$ gm¶H$bñdma CÎmaoH$S>o 30 {H$.‘r. A§Va Jobm. Ë¶mZ§Va nyd}H$S>o diyZ 40 {H$.‘r. A§Va Jobm. Ë¶mZ§Va Vmo Amnë¶m
COdrH$S>o diyZ 20 {H$.‘r. A§Va Jobm. Ë¶mZ§Va nwÝhm COdrH$S>o diyZ 40 {H$.‘r. A§Va Jobm Va Vmo Amnë¶m
gwadmVrÀ¶m OmJonmgyZ {H$Vr A§Vamda Amho ?
1) 0 {H$.‘r. 2) 10 {H$.‘r. 3) 30 {H$.‘r. 4) 25 {H$.‘r.

6) A cyclist goes 30 km to the North and then turning to East he goes 40 km. Again he turns to his

right and goes 20km. After this he turns to his right and goes 40 km. How far is he from his

starting point ?

1) 0 km 2) 10 km 3) 30 km 4) 25 km

7) 400 ‘r. A§Vamdê$Z nmo{bgmZo Mmoambm Wm§~dbo. nmo{bgmZo nmR>bmJ gwê$ Ho$bm Ë¶mMdoir MmoamZohr nim¶bm gwédmV
Ho$br. MmoamMm doJ Vmer 10 {H$‘r Am{U nmo{bgmMm doJ Vmer 15 {‘H$s Amho Ago J¥hrV Yaë¶mg nH$S>bo OmÊ¶mnydu
Mmoa {H$Vr A§Va niob?
1) 300 ‘r. 2) 350 ‘r. 3) 400 ‘r. 4) 800 ‘r.

7) A thief is stopped by a policeman from distance of 400. metres. When the policeman starts the ‘

chase, the thief.also starts ranning. Assuming the speed of thief as 10 km/hr and that of policeman

as 15 km/hr how far the thief would run, before he is captured ? ;

1) 300 mt. 2) 350 mt. 3) 400 mt. 4) 800 mt.

8) ‘r Zoao ¶m JmdmV ahmVmo Am{U ‘bm Odinmg ahmUmè¶m CnMma H$ê$Z KoUmè¶m J«mhH$m§À¶m noao, Voao d goao ¶m Jmdm§Zm ̂ oQ>
Úm¶Mr Amho. gd© Jmdo {Û‘mJu añË¶m§Zr OmoS>bobr AmhoV. noao Vo Zoao ‘mJ© 31 {H$‘r, Voao Vo noao 20 {H$‘r, goao Vo noao 23
{H$‘r, Zoao Vo Voao 18 {H$‘r, Voao Vo goao 17 {H$‘r Am{U goao Vo Zoao 25 {H$‘r bm§~rMo AmhoV. gd© J«mhH$m§Zm ôQ>r XoD$Z
Zoaobm naVÊ¶mgmR>r ‘bm H$mnmdo bmJUmao {H$‘mZ A§Va {ZdS>m.
1) 86 2) 93 3) 91 4) 83

8) I live in a village Nere and I want to visit my therapy clients living in nearby villages Pere, Tere and

Sere. All villages are connected by two way routes. Length of the route from Pere to Nere is 31

km, from Tere to Pere is 20 km, from Sere to Pere is 23 km long, Nere to Tere is 18 km, Tere to

Sere 17 km, and. from Sere to Nere is 25 km long. Select the shortest distance that I | require to

cover visits to my clients and return to Nere.

1) 86 2) 93 3) 91 4) 83
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9) Ooìhm ‘wbJm Ë¶mÀ¶m Zoh‘rÀ¶m JVrÀ¶m 5/7 JVrZo MmbVmo, Voìhm Vmo emioV 6 {‘{ZQ>o C{eam nmohmoMVmo. emioV nmohmoMm¶bm
Ë¶mbm bmJUmam Zoh‘rMm H$mbmdYr {ZdS>m.
1) 30 {‘{ZQ>o 2) 21 {‘{ZQ>o 3) 15 {‘{ZQ>o 4) 12 {‘{ZQ>o

9) Walking at 2th of his usual speed, a boy reaches his school 6 minutes late. Select his usual time

taken to reach the school.

1) 30 minutes 2) 21 minutes 3) 15 minutes 4) 12 minutes

10) lr gwaoe ho X{jUoH$S>o Vm|S> H$ê$Z Vo S>mdrH$S>o dibo Am{U Ë¶m§Zr KamnmgyZ 3 {H$‘r àdmg Ho$bm Am{U nwÝhm Vo COdrH$S>o
dibo Am{U 4 {H$‘r àdmg Ho$bm, Z§Va Vo Ë¶m§À¶m S>mì¶m ~mOybm dibo Am{U 9 {H$‘r àdmg Ho$bm. eodQ>r Vo Ë¶m§À¶m
COdrH$S>o dibo Am{U 12 {H$‘r Am§Va H$mnbo, Va Vo Ë¶m§À¶m KamnmgyZ {H$Vr A§Vamda AmhoV?
1) 28000 ‘r. 2) 25000 ‘r. 3) 20000 ‘r. 4) 2000 ‘r.

10) Mr. Suresh was facing south turned to his left and travelled 3 km from his house. He then turned

to his right and travelled 4 km and again he turned to his left and travelled 9 km. Finally he turned

to his right and covered 12 km. How far is he from his house ?

1) 28000 m 2) 25000 m 3) 20000 m 4) 2000 m

11) A‘o¶ ‘§{XamnmgyZ 8 {H$‘r MmbV Jobm Ë¶mZ§Va 3 {H$‘r S>mdrH$S>o MmbV Jobm. Ë¶m {R>H$mUmhÿZ Vmo 12 {H$‘r S>mdrH$S>o
MmbV Jobm Va Vmo ‘§{XamnmgyZ {H$Vr A§Vamda Amho ?
1) 2 {H$‘r 2) 3 {H$‘r 3) 4 {H$‘r 4) 5 {H$‘r

11) Amey went 8 km from a temple by walking then, he went to left by walking 3 km. From that place

he went left by walking 12 km then how far is he from temple?

1) 2 km 2) 3 km 3) 4 km 4) 5 km

12) {ZaOZo EHy$U 60 {H$.‘r. A§Vamn¡H$s n{hco 20 {H$.‘r. A§Va Vmer 10 {H$.‘r. doJmZo nma nmS>co, nwT>rc 20 {H$.‘r.
A§Va Vmer 12 {H$.‘r. doJmZo d am{hcoco 20 {H$.‘r. A§Va Vmer 15 {H$.‘r. doJmZo H$mnco, Va {ZaOMm g§nyU© 60
{H$.‘r. A§VamÀ¶m àdmgmVrc gamgar doJ {H$Vr ?
1) Vmer 12 {H$.‘r. 2) Vmer 13 {H$.‘r.  3) Vmer 14 {H$.‘r. 4) Vmer 11 {H$.‘r.

12) Niraj covered the first 20 km distance, out of a total of 60 km, at a speed of 10 km/hr, the next

20 km distance at 12 km/hr and the remaining 20 km distance at 15 km/hr. What is the average

speed of Niraj to cover the 60 km distance ?

1) 12 kill 2) 13 km/hr 3) 14 km 4) 11 km/hr

13) EH$ {dÚmWu Ë`mÀ`m Zoh‘rÀ`m JVrÀ`m 2/5 MmbV Ë`mÀ`m emioV 30 {‘{ZQ>o C{eam nmohmoMVmo. Ë`mMr Zoh‘rMr doi
emoYm.
1) 10 {‘{ZQ>o 2) 30 {‘{ZQ>o 3) 20 {‘{ZQ>o 4) 12 {‘{ZQ>o

13) By walking 2/5 of his usual speed a student reaches his school 30 minutes late. Find his usual

time.

1) 10 minutes 2) 30 minutes 3) 20 minutes 4) 12 minutes

14) EH$ ‘mUyg X{jUoH$S>o 30 ‘rQ>a MmbVmo. ‘J COdrH$S>o diyZ Vmo 30 ‘rQ>a MmbVmo. ‘J Ë`mÀ`m S>mdrH$S>o diyZ, Vmo 20
‘rQ>a MmbVmo. Vmo nwÝhm S>mdrH$S>o diVmo Am{U 30 ‘rQ>a MmbVmo. Vmo Ë`mÀ`m gwédmVrÀ`m pñWVrnmgyZ {H$Vr Xya Amho?
1) 20 ‘r 2) 30 ‘r 3) 60 ‘r 4) 50 ‘r
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14) A man walks 30 m towards South. Then turning to his right he walks 30 m. Then turning to his left,

he walks 20 m. Again he turns to his left and walks 30 m. How far he is from his initial position?

1) 20 m 2) 30 m 3) 60 m 4) 50 m

15) EH$ ‘mUyg EHy$U àdmgmÀ`m 1/2 àdmg ~gZo H$aVmo, 1/3 àdmg [ajmZo H$aVmo Am{U Cd©[aV 2 {H$‘r nm`r H$aVmo.
Ë`mMm EHy$U àdmg {H$Vr Amho?
1) 12 {H$‘r 2) 8 {H$‘r 3) 18 {H$‘r 4) 10 {H$‘r

15) A man perform 1/2 of the total journey by bus, 1/3 of journey by rickshaw and remaining 2 km by

foot. How much is his total journey?

1) 12 km 2) 8 km 3) 18 km 4) 10 km

16) EH$ AmJJmS>r A Zm{eH$nmgyZ g§Ü¶mH$mir 5.00 dmOVm gwê$ Pmbr Am{U 6.00 dmOVm g§Ü¶mH$mir ‘Z‘mS>bm nmohMbr.
Xþgar AmJJmS>r B ‘Z‘mS>nmgyZ g§Ü¶mH$mir 5.00 dmOVm gwQ>br Am{U g§Ü¶mH$mir 6.30 dmOVm Zm{eH$bm nmohMbr.
Va Ë¶m EH$‘oH$s¨Zm {H$Vr dmOVm ôQ>Vrb ?
1) 5.30 dmOVm 2) 5.45 dmOVm 3) 5.36 dmOVm 4) 6.30 dmOVm

16) A train A started from Nashik at 5.00 pm and reached Manmad at 6.00 pm. The second train left

Manmad at 5.00 pm and reached Nashik at 6.30 pm. So what time will they meet each other?

1) 5.30 hrs 2) 5.45 hrs 3) 5.36 hrs 4) 6.30 hrs

17) Amem EH$m {R>H$mUmhÿZ 5 {H$.‘r. gai CÎmaobm Jobr. Z§Va COdrH$S>o diyZ 5 {H$.‘r. MmbyZ nwÝhm COdrH$S>o diyZ 5
{H$.‘r. Mmbbr, Va Vr ‘yiÀ`m {R>H$mUmhÿZ {H$Vr A§Vamda Amho ?
1) 5 {H$.‘r. 2) 15 {H$.‘r. 3) 10 {H$.‘r. 4) 20 {H$.‘r.

17) Asha is 5 km from a place. Went straight north. Then turn right for 5 km. Walk and turn right again

for 5 km. If so, how far is it from the original place?

1) 5 km. 2) 15 km. 3) 10 km. 4) 20 km.

18) adtÐ EH$m {R>H$mUmhÿZ 5 {H$.‘r. nyd}bm Jobm. Ë¶mZ§Va Vmo H$mQ>H$moZmV S>mdrH$S>o diyZ VodT>oM A§Va nwT>o Jobm. Ë¶mZ§Va
Vmo nyd}H$S>o diyZ Ë¶mM {XeoZo 7 {H$.‘r. A§Va MmbV Jobm Va Ë¶mMo ‘yi {R>H$mUmnmgyZMo gai A§Va {H$Vr ?
1) 13 {H$.‘r. 2) 17 {H$.‘r. 3) 12 {H$.‘r. 4) ¶mn¡H$s Zmhr

18) Ravindra is 5 km from a place. went east. He then turned left at a right angle and proceeded the

same distance. Then he turns eastwards and travels 7 km in the same direction. If the distance is

walked, what is its straight distance from the original place?

1) 13 km. 2) 17 km. 3) 12 km. 4) None of these

19) Ywio Vo nwUo A§Va 352 {H$.‘r. Amho. Vmer 40 {H$.‘r. doJmZo 5 dm. 30 {‘{ZQ>m§Zr {ZKmbobr ~g nwÊ¶mbm {H$Vr dmOVm
nmohmoMob ?
1) 1 dm 6 {‘{ZQ>m§Zr 2) 2 dm 18 {‘{ZQ>m§Zr 3) 12 dm 30 {‘{ZQ>m§Zr 4) 8 dm 48 {‘{ZQ>m§Zr

19) Distance from Dhule to Pune is 352 km. is 40 km per hour 5th at speed. At what time will the bus

leave Pune after 30 minutes?

1) 1st 6 minutes 2) 2nd 18 minutes 3) 12th 30 minutes 4) 8th 48 minutes
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20) 5 {H$.‘r. 400 ‘rQ>a Mo 30% åhUOo ................ {H$.‘r. A^¶ bm nm¶r MmbÊ¶mMr gd¶ Amho. AmO Ë¶mZo 5
{H$.‘r. Am{U 400 ‘rQ>a Mo 30% A§Va nm¶r H$mnbo Va A^¶ {H$Vr {H$bmo‘rQ>a nm¶r Mmbbm ?
1) 1,660 2) 1,680 3) 1,620 4) 1,670

20) 5 km. 30% of 400 meters is ................ km. Abhay has a habit of walking. Today he covered 5 km.

And if 30% of the distance of 400 meters is covered on foot, how many kilometers did Abhay

walk?

1) 1,660 2) 1,680 3) 1,620 4) 1,670

2) aoëdoJmS>çm
1) AmJJmS>rV ~gyZ EH$ ì¶º$s Bbo³Q´>rH$ Im§~m§Mr g§»¶m ‘moOVo Amho. XmoZ Im§~mVrb A§Va 50 ‘rQ>a Amho Am{U Ë¶m

AmJJmS>rMm doJ Vmer 40 {H$‘r Amho Va 5601 Im§~ ‘moOÊ¶mgmR>r {H$Vr Vmg bmJVrb?
1) 7 Vmg 2) 6 Vmg 3) 5 Vmg 4) 3 Vmg

1) Travelling in a train a person is counting the number of electric poles. The distance between the

two poles is 50 metres and the speed of the train is 40 km/hour. Then how many hours will the

person require to count 5601 poles ?

1) 7 hours 2) 6 hours 3) 5 hours 4) 3 hours

2) 250 ‘rQ>a bm§~rMr aoëdoJmS>r Vmer 45 {H$.‘r. doJmZo YmdVo, Va 250 ‘r. bm§~rMm ßb°Q>’$m°‘© Amobm§S>Ê¶mgmR>r {H$Vr doi
bmJob?
1) 36 goH§$X 2) 40 goH§$X 3) 50 goH§$X 4) 45 goH§$X

2) A train 250 metres long running at a speed 45 km/hr, how long does it take to pass a platform of

length 250 metres ?

1) 36 Seconds 2) 40 Seconds 3) 50 Seconds 4) 45 Seconds

3) XmoZ Q´>oZÀ¶m doJmVrb JwUmoÎma 2 … 5 Amho. Oa n{hbr Q´>oZ 5 VmgmV 350 {H$.‘r. Ymdbr Va XmoÝhr Q´>oZÀ¶m doJmVrb
’$aH$ Vmer {H$Vr {H$.‘r. hmoB©b?
1) 165 2) 180 3) 350 4) 105

3) The ratio between the speeds of two trains is 2 : 5. If first train runs 350 km in 5 hours, then the

difference between speeds (in km/h) of both the trains is :

1) 165 2) 180 3) 350 4) 105

4) dVw©imH$ma aoëdonQ>ardê$Z XmoZ ‘oQ´>mo nañnam§À¶m {déÕ {XeoZo Vmer 264 {H$‘r g‘mZ doJmZo XrS> Vmg YmdV AmhoV. Oa
H|$Ðq~Xÿ nmgyZMo nQ>arMo A§Va 23 {H$‘r Agob; Va ‘oQ´>mo Q>óZ nañnam§Zm {H$Vr doiog nmg H$aVrb?
1) 4 2) 5 3) 6 4) 7

4) Two metro trains are running for one and a half hours in opposite directions at same speed of 264

kmph on a circular railway-track. If the distance of the track from the center-point is 23 km, then

how many times will those metro trains pass each other?

1) 4 2) 5 3) 6 4) 7

5) ‘w§~B© Vo Ah‘Xm~mX A§Va 2000 {H$.‘r. Amho. ¶m XmoÝhr {R>H$mUmhÿZ nañnamÀ¶m {XeoZo XmoZ aoëdo JmS>çm AZwH«$‘o 120
{H$.‘r./Vmg d 80 {H$.‘r./Vmg ¶m doJmZo {ZKmë¶m. Va Ë¶m JmS>çm {H$Vr VmgmZ§Va ôQ>Vrb ?
1) 14 Vmg 2) 10 Vmg 3) 12 Vmg 4) 20 Vmg
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5) Distance from Mumbai to Ahmedabad is 2000 km. is Two trains started from both these places

towards each other at the speed of 120 km/h and 80 km/h respectively. So after how many hours

will those trains meet?

1) 14 hours 2) 10 hours 3) 12 hours 4) 20 hours

3) ~moQ> Am{U Obàdmh
1) EH$ ~moQ> àdmhmÀ¶m {XeoZo 30 {H$‘r/Vmg ¶m doJmZo OmVo d àdmhmÀ¶m {déÕ {XeoZo 24 {H$‘r/Vmg ¶m doJmZo naV ¶oVo.

Va ~moQ>rMm g§W nmÊ¶mVrb doJ gm§Jm d àdmhmMm doJ H$mT>m.
1) 26 {H$‘r/Vmg d 3 {H$‘r/Vmg 2) 28 {H$‘r/Vmg d 3 {H$‘r/Vmg
3) 27 {H$‘r/Vmg d 2 {H$‘r Vmg 4) 27 {H$‘r/Vmg d 3 {H$‘r/Vmg

1) A boat travels upstream with a speed of 30 km/hr and returns upstream with a speed of 24 km/hr.

Then state the speed of the boat in slow water and find the speed of the current.

1) 26 km/h and 3 km/h 2) 28 km/h and 3 km/h

3) 27 km/hr and 2 km/hr 4) 27 km/hr and 3 km/hr



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ‘yb ŷV g§»`mË‘H$ j‘Vm / 43
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4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U
MH«$dmT> ì`mO

1) {dH«$s Am{U IaoXr, gdbV
2) Z’$m Am{U VmoQ>m
3) gai ì`mO Am{U MH«$dmT> ì`mO
4) bmoH$g§»¶m dmT>

1) {dH«$s Am{U IaoXr, gdbV
1) añË¶mdaÀ¶m {dH«o$VrZo EHo$ {Xder {VÀ¶mH$S>rb ~mhþë¶m§À¶m {Zåå¶mhÿZ XmoZ ~mhþë¶m A{YH$ {dH$ë¶m. Xþgè¶m {Xder {VZo

{VÀ¶mH$S>o Agboë¶m ~mhþë¶m§À¶m {Zåå¶mn¡H$s XmoZ ~mhþë¶m H$‘r {dH$ë¶m. {VÀ¶mH$S>o 26 ~mhþë¶m {e„H$ am{hë¶m.
gwédmVrbm {VÀ¶mH$S>o Agboë¶m ~mhþë¶m§Mr g§»¶m {ZdS>m.
1) 100 2) 96 3) 104 4) 92

1) A street vendor sold 2 dolls more than half the number of dolls she has on one day. The next day

she sold 2 dolls less than half of the remaining number of dolls available with her. If she was left

with 26 dolls.

Select the number of dolls she did initially have.

1) 100 2) 96 3) 104 4) 92

2) EH$m XþH$mZXmamZo 18 eQ>© é. 2,800 bm {dH$ë¶mg é.80 VmoQ>m Pmbm, Va àË¶oH$ eQ>©Mr IaoXr qH$‘V {H$Vr ?
1) é.150 2) é.140 3) é.160 4) é.180

2) If a shopkeeper sells 18 shirts for Rs. 2,800, he suffers a loss of Rs. 80. What is the cost

price of each shirt ?

1) Rs.150 2) Rs.140 3) Rs.160 4) Rs.180

3) a‘oembm H$mnS>mÀ¶m é. 1650 {~bmda 14% gyQ> {‘imbr. Va Vo H$mnS> Ë¶mbm Ho$dT>çmg {‘imbo ?
1) é. 1485 2) é. 1376 3) é. 1419 4) é. 1353

3) If Ramesh got 14% discount on purchase of cloth of Rs.1650 then how much rupees did he

pay for purchasing cloths ?

1) Rs. 1485 2) Rs. 1376 3) Rs. 1419 4) Rs. 1353

4) adrZo gwYrabm EH$ dñVy 6% Zâ¶mZo {dH$br. gwYraZo Vr dñVy 5% VmoQ>çmZo Jmonmbbm {dH$br. Oa JmonmbMr IaoXrMr
qH$‘V én¶o 2014 Agob Va adrMr IaoXrMr qH$‘V {H$Vr?
1) én¶o 2000 2) én¶o 2011 3) én¶o 2020 4) én¶o 1900

4) Ravi sold an article to Sudhir at a profit of 6% who in turn sold that to Gopal at a loss of 5%. If

Gopal paid Rs. 2014 for the article, find the cost price of the article for Ravi :

1) Rs. 2000 2) Rs. 2011 3) Rs. 2020 4) Rs. 1900
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5) EH$ é. 4,000 {H$‘VrMr dñVy 10% gyQ> XodyZ {dH$ë¶mg Amboë¶m {H$‘Vrda ‘§Xr‘wio naV 5% gyQ> {Xbr Va Ë¶m
dñVwMr {dH«$s qH$‘V {H$Vr ?
1) é.3,420 2) é.3,500 3) é.3,600 4) é.3,400

5) An article worth 4,000 is sold at 10% discount and further discount of 5% is given due to

off season. What is the selling price of article ?

1)  Rs.3,420 2) Rs.3,500 3) Rs.3,600 4) Rs.3,400

6) EH$m é. 16,000 qH$‘VrÀ¶m ¶§ÌmMr qH$‘V Xadfu 5% Zo H$‘r hmoVo. Va XmoZ dfm©Z§Va Ë¶mMr qH$‘V {H$Vr?
1) é. 15,400 2) é. 13,640 3) é. 14,440 4) é. 15,540

6) The value of machine decreases at the rate of 5% every year. If the present value of machine i %

16,000. What will it be.after two years ?

(1) Rs.15,400 (2) Rs13,640 (3) Rs14,440 (4) Rs.15,540

7) Xe {H$bmoJ«°‘ gmIaoMr qH$‘V é.400 Amho. Ë¶mda 25% gmIa ’w$H$Q> {‘imë¶mg, Va gmIaoMr qH$‘V à{V {H$bmoJ«°‘
{H$Vr hmoB©b ?
1 é.34 2) é.48 3) é.32 4) é.36

7) The cost of 10 kg sugar is = 400. If on that, 25% sugar is free, then what will be the cost of sugar

per kg ?

1) Rs. 34 2) Rs. 48 3) Rs. 32 4) Rs36

8) EH$m XþH$mZXmamZo 15 eQ>© é.2,340 bm {dH$ë¶mda é.60 VmoQ>m Pmbm 1 Va àË¶oH$ eQ>©Mr IaoXr qH$‘V {H$Vr ?
1) é.160 2) é.240 3) é.180 4) é.230

8) A shopkeeper sold 15 shirts for = 2,340, he suffered a loss of = 60. What is the cost price of each

shirt ?

1) Rs. 160 2) Rs. 240 3) Rs. 180 4) Rs. 230

9) 4 A§JR>çm d 2 ~m§JS>çm§Mr qH$‘V é.57,200 Amho, Va 6 A§JR>çm d 3 ~m§JS>çm§Mr qH$‘V {H$Vr Agob ?
1) é.85,800 2) é.75,800 3) é.95,800 4) é.95,900

9) The cost of 4 rings and 2 bangles is = 57,200, then the cost of 6 rings and 3 bangles is ;

1) Rs. 85,800 2) Rs. 75,800 3) Rs. 95,800 4) Rs. 95,900

10) gmIaoMr qH$‘V 60% Zo dmT>br. KamV gmIa {H$Vr Q> o̧$ H$‘r dmnamdr åhUOo IMm©V dmT> hmoUma Zmhr?

1) 25% 2) 30% 3) 37
  1  

% 4) 40%
         2

10) The price of sugar is increased by 60%. How much percent a householder should reduce the

consumption of sugar so as not to increase the expenditure ?

1) 25% 2) 30% 3) 37
   1  

% 4) 40%
            2

11) XmoZ dfm©nydu noQ´>mobMm Xa à{V {bQ>a é.90 hmoVm Am{U ¶mdfu Vmo à{V{bQ>a é. 120 Pmbm. Va noQ´>mobÀ¶m XamV eoH$S>m
dmT> {H$Vr ?
1) 33.33 2) 66.66 3) 25 4) 35
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11) If 2 year ago, the price of petrol was Rs.90 per litre and today it is Rs.120 per litre. What

is the percentage increase in price of petrol ?

1) 33.33 2) 66.66 3) 25 4) 35

2) Z’$m Am{U VmoQ>m
1) A hr qH$‘V B nojm ‘moR>r AgVmZm P = (A Mo 40%) + (B Mo 65%) Am{U Q = (A Mo 50%) + (B Mo 50%)

AmhoV.
¶m g§X^m©V nwT>rbn¡H$s H$moUVo {dYmZ gË¶ Amho?
1) P hm Q nojm ‘moR>m Amho. 2) Q hm P nojm ‘moR>m Amho.
3) P Am{U Q g‘mZ AmhoV. 4) darb H$moUVmhr {ZîH$f© ImÌrnyd©H$ H$mT>Vm ¶oUmaZ Zmhr.

1) P = ( 40% of A) + (65% of B) and Q = (50% of A) + (50% of B) , where A is graeter than B.

In this context, which of the following statement is correct ?

1) P is greater than Q  2) Q is greater than P.

3) P is equal to Q  4) None of the above can be concluded with certainty.

2) {ZaOZo é. 500 IaoXr {H$‘VrMo KS>çmi é. 560 bm {dH$bo, VwfmaZo é. 600 IaoXr qH$‘VrMo KS>çmi é. 666 bm
{dH$bo, Va XmoKm§n¡H$s eoH$S>m Z’$m H$moUmbm A{YH$ {‘imbm Am{U {H$Vr?
1) {ZaObm 1% 2) Vwfmabm 1% 3) {ZaObm 2% 4) Vwfmabm 2%

2) If Niraj sold a watch of cost price % 500 to % 560 and Tushar sold a watch of cost price % 600

to % 666, then who got more profit and how much ?

(1) Niraj, 1% (2) Tushar, 1% (3) Niraj, 2% (4) Tushar, 2%

3) g§O¶Zo EH$ ~§Jbm é.7.5 bmI bm KoVbm. Vmo ~§Jbm {H$Vr én¶m§Zm {dH$bm åhUOo g§O¶bm 12.5% Z’$m hmoB©b ?
1) é.8,25,250 2) é.8,43,750 3) é.8,37,500 4) é.8,40,250

3) Sanjay purchased a bungalow for = 7-5 lakhs, At what price, should he sell it to earn a profit of

12:5% ? ,

1) Rs. 8,25,250 2) Rs. 8,43,750 3) Rs. 8,37,500 4) Rs. 8,40,250

4) Ooìhm EH$ OmJm é.18,700 Zm {dH$br, Voìhm Ë¶m ‘mbH$mMo 15% ZwH$gmZ Pmbo. Vr OmJm {H$Vr qH$‘Vrbm {dH$m¶bm
nm{hOo hmoVr, åhUOo 15% Z’$m Pmbm AgVm ?
1) é. 21,000 2) é. 22,000 3) é. 25,300 4) é. 25,800

4) When a plot is sold for Rs.18,700, the owner loses 15%. At what price must that plot be sold in

order to gain 15% ?

1) Rs.21,000 2) Rs.22,000 3) Rs.25,300 4) Rs.25,800

5) EH$ dñVy 17 én¶m§Zm {dH$ë¶m‘wio 2 é. Z’$m hmoVmo. Oa Vr dñVy 12 én¶m§Zm {dH$ë¶mg eoH$S>m Z’$m AJa VmoQ>m {H$Vr
hmoB©b ?

1) eoH$S>m VmoQ>m 20 2) eoH$S>m Z’$m 21 3) eoH$S>m VmoQ>m 19 4) eoH$S>m Z’$m 20
5) Selling an item for Rs.17 will cost Rs.2. Profit is made. If the item is sold at Rs 12, what will be

the profit or loss per cent?

1) Percent Loss 20 2) Percent Profit 21 3) Percent Loss 19 4) Percent Profit 20



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ‘yb ŷV g§»`mË‘H$ j‘Vm / 46
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6) EH$m XþH$mZXmamZo dñVw§À¶m {H$‘Vr eoH$S>m 15 Zo dmT>dyZ {bhrë¶m Am{U Ë¶m {H$‘Vrda eoH$S>m 5 gyQ> {Xbr Va Ë¶mbm
eoH$S>m Z’$m {H$Vr Pmbm ?
1) 9% 2) 9.25% 3) 9.50% 4) 9.75%

6) If seller increased selling price by 15% with writing on that thing and he gave 5% discount

on that written price of that thing, then how much percentage in profit did he get ?

1) 9% 2) 9.25% 3) 9.50% 4) 9.75%

7) gmW©H$Zo é.3.25 à{V g‘mogmà‘mUo 60 g‘mogo IaoXr Ho$bo. Oa Ë¶mZo Ë¶mEodOr é.39 à{V {H$.J«°. à‘mUo {‘R>mB© KoVbr
AgVr Va Ë¶mbm {H$Vr {‘R>mB© {‘imbr AgVr ?
1) 2 {H$.J«°. 2) 5 {H$.J«°. 3) 500 J«©°‘ 4) 4 {H$.J«°.

7) Sarthak bought 60 sammosas at the rate of Rs.3.25 per sammosa. Instead had he bought sweet

the rate of Rs.39 per kg.How much of sweet could he have bought ?

1) 2 kg 2) 5 kg 3) 500 gm 4) 4 kg

3) gai ì`mO Am{U MH«$dmT> ì`mO
1) Oa EH$ a¸$‘ X.gm.X.eo. 10 XamZo 2 dfm©gmR>r R>odbr Va Ë¶mda {‘iUmè¶m gaiì¶mO d MH«$dmT> ì¶mO ¶mVrb ’$aH$

750 Amho. Va Vr a¸$‘ {H$Vr ?
1) 75,000 2) 60,000 3) 15,000 4) 90,000

1) The difference between the simple and. compound interest on a certain sum of money for 2 years

at 10% per annum is Rs. 750. What is the sum ?

1) 75,000 2) 60,000 3) 15,000 4) 90,000

2) EH$m aH$‘oMo XmoZ dfmªMo gai ì¶mO d MH«$dmT> ì¶mO AZwH«$‘o < 1,800 d < 1,890 Amho. Va Vr a¸$‘ X. gm. X.
eo. {H$Vr ì¶mO XamZo R>odcr hmoVr ?
1)10 2) 9  3) 12 4) 15

2) The simple interest and compound interest for 2 years of a sum is T 1,800 and T 1,890 respectively.

What is the rate of interest per cent per annum ?

(1) 10  (2) 9  (3) 12 (4) 15

3) ~±Ho$er Ho$boë¶m H$amamZwgma EH$m ì¶dgm¶ H$aUmè¶m órbm ì¶mOa{hV H$Om©Mo naVmdo g‘mZ aH$‘m§À¶m H$mhr hßË¶m§V
H$am¶Mo AmhoV. 18 háo {Xë¶mZ§Va ñdV… 60% a¸$‘ ’o$S>br Amho Ago {VÀ¶m bjmV Ambo. H$amamV R>abobr hßË¶m§Mr
g§»¶m {ZdS>m.
1) 22 2) 24 3) 30 4) 34

3) A business women had to repay a loan in some equal instalments without interest as per agree-

ment with bank. She found that she refunded 60% of her loan after paying 18 instalments. Select

the number of instalments that were in the agreement.

1) 22 2) 24 3) 30 4) 34
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4) 'n' dfmªÀ`m eodQ>r dm{f©H$ 7 ì`mOmZo é. 1 {‘iV Agob Va, gÜ¶m Ë¶m é. 1 Mo ‘yë¶ {H$Vr Agob ?

1) 2) 3) 4) 

4) What is the present value of Rs. 1 receivable at the end of ‘n’ years at 7 interest per annum ?

1) 2) 3) 4) 

5) Oa dfm©Mr IaoXr 12-5% Agob, Va emídV naVmì`mMm Xa ........... Amho.
1) 10% 2) 6% 3) 12% 4) 8%

5) If the Year’ s Purchase (Y.P.) is 12-5%, then rate of return perpetuity is ............

1) 10% 2) 6% 3) 12% 4) 8%

6) a¸$‘ {‘idÊ`mgmR>r gmYm ì`mOXa {H$Vr Agmdm? 2,000 XmoZ dfmªZ§Va é. 1,600?
1) 1.25 2) 5.12 3) 125 4) 12.5

6) What should be the simple interest rate for getting the amount Rs. 2,000 after two years on Rs.

1,600?

1) 1.25 2) 5.12 3) 125 4) 12.5

4) bmoH$g§»¶m dmT>
1) JmdÀ¶m bmoH$g§»¶oV EH$mdfu 5% Zo dmT> hmoVo, Va Ë¶mÀ¶m nwT>À¶m dfu 5% Zo KQ> hmoVo. Xþgè¶m dfm©À¶m AIoarg Oa

bmoH$g§»¶m 35,112 hmoVr, Va n{hë¶m dfm©À¶m gwadmVrg JmdmMr bmoH$g§»¶m {H$Vr hmoVr ?
1) 35,100 2) 35,200 3) 35,204 4) 35,225

1) During one year, the population of a village increases by 5% and the next year it diminishes by

5%. If at the end of the second year the population was 35,112, what " was it at the beginning of

the first year ?

1) 35,100 2) 35,200 3) 35,204 4) 35,225

2) EH$m àmUr JQ>mV ~mc d àm¡T> ‘mÚm AmhoV. ZdOmV ‘mXr EH$m ‘{hÝ¶mV àm¡T>Ëd àmá H$aVo Am{U Oa n[apñWVr AZwHy$c
Agoc Va nmM dfm©n¶ªV Xa ‘{hÝ¶mcm gamgar EH$m ZdOmV ‘mXrcm OÝ‘ XoVo. Oa EH$m JQ>mV gwédmVrcm EH$ ZdOmV
‘mXr Agoc Va Xhm ‘{hÝ¶mZ§Va cJoMM Ë¶mV {H$Vr ‘mÚm AgVrc?
1) 71 2) 76 3) 81 4) 89

2) In a certain animal group there are juvenile as well as adult females. Infant female attains adulthood

in one month and on an average gives birth to one new juvenile female every month for about five

years if conditions are favourable. If there is one new borne female in a group to begin with then

how many females will be there immediately after ten months ?

1) 71 2) 76 3) 81 4) 89
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3) EH$m dfm©V JmdmMr bmoH$g§»`m 5% Zo dmT>Vo Am{U nwT>À`m dfu Vr 5% H$‘r hmoVo. Oa Xwgè`m dfm©À`m eodQ>r bmoH$g§»`m
35, 112 Agob, Va n{hë`m dfm©À`m gwédmVrbm Vr {H$Vr hmoVr?
1) 35,100 2) 35,200 3) 35,204 4) 35,300

3) During one year the population of village increases by 5% and next year it diminishes by 5%. If at

the end of second year the population was 35, 112, what was it at the beginning of first year?

1) 35,100 2) 35,200 3) 35,204 4) 35,300
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5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ

1) doi Am{U H$m‘
2) nmB©n> Am{U hm¡X
3) KS>çmi Am{U doi
4) H°$b|S>a d H$mb‘mnZ
5) d¶mdarb àíZ

1) doi Am{U H$m‘
1) A Am{U B EH$ H$m‘ EH${ÌVnUo 15 {XdgmV nyU© H$aVmV B EH$Q>m VoM H$m‘ 20 {XdgmV nyU© H$aVmo Va A EH$Q>m

VoM H$m‘ {H$Vr {XdgmV nyU© H$aob?
1) 60 2) 45 3) 40 4) 30

1) If A and B together can complete a piece of work in 15 days and B alone in 20 days. In how many

days can A alone complete the work ?

1) 60 2) 45 3) 40 4) 30

2) Oo H$m‘ g§Oy 45 {XdgmV H$aVmo VoM H$m‘ amOy 30 {XdgmV H$aVmo. Va Vo XmoKo {‘iyZ VoM H$m‘ {H$Vr {XdgmV H$aVrb?
1) 15 2) 18 3) 22 4) 20

2) Sanju finishes a work in 45 days, Raju finishers the same work in 30 days. In how many days

will both finish the same work together ?

1) 15 2) 18 3) 22 4) 20

3) 'C' cm EH$ H$m‘ H$aÊ¶mgmR>r 4 {Xdg d D cm VoM H$m‘ H$aÊ¶mgmR>r 5 {Xdg cmJVmV, XmoKm§Zr {‘iyZ H$m‘ nyU©
Ho$ë¶mg Ë¶m§Zm 360 é. {‘iVmV. Va D Mm dmQ>m {H$Vr ?
1) é. 180 2) é. 160 3) é. 200 4) é. 220

3) 'C' takes 4 days to do a piece of work and D takes 5 days to complete the same piece of work, if

both of them complete the work together they will earn Rs.360. get So how much is the share of

D?

1) 180 2) 160 3) 200 4) Rs. 220

4) Oa EH$ H$m‘ 10 ‘mUgo Xa {Xder 2 Vmg, ¶mà‘mUo 5 {XdgmV nyU© H$aVmV, Va VoM H$m‘ 2 ‘mUgo {XdgmVyZ 5
Vmg H$aVrb, Va Ë¶m§Zm {H$Vr {Xdg bmJVrb ?
1) 8 2) 5 3) 10 4) 12

4) If a work is done by 10 men for 2 hours per day, etc., in 5 days, then how many days will it take 2

men to do the same work for 5 hours a day?

1) 8 2) 5 3) 10 4) 12

5) {díd Oo H$m‘ 8 {XdgmV H$aVmo VoM H$m‘ H$am¶cm g¥ï>rcm 10 {Xdg cmJVmV. Oa XmoKo {‘iyZ Vo H$m‘ H$aV AgVrc
Va Vo H$m‘ nyU© H$aÊ¶mg {H$Vr doi cmJoc ?

1) 10  1  {Xdg 2) 6  1  {Xdg 3)   4  {Xdg 4) 4   4  {Xdg
         2        2       9         9
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5) Vishwa can finish the work in 8 days. While Srushti can finish the same work in 10 days. If they

work together then how long they will take to finish the same work ?

1) 10   1   days 2) 6   1  days 3)   4   days 4) 4   4   days
             2           2       9           9

6) Oa 14 ‘Oya amoO 6 Vmg H$m‘ H$ê$Z 21 IoiUr ~ZdVmV Va 8 ‘Oya amoO 7 Vmg H$m‘ H$ê$Z {H$Vr IoiUr ~ZdVrb?
1) 12 2) 14 3) 16 4) 18

6) If 14 labours make 21 toys by working 6 hrs. daily then how many toys will make by 8 labours

by working daily 7 hrs. ?

1) 12 2) 14 3) 16 4) 18

7) 4 nwéf AWdm 6 {ó¶m, EH$ H$m‘ 20 {XdgmV nyU© H$aVmV. Va 2 nwéf d 9 {ó¶m {‘iyZ VoM H$m‘ {H$Vr {XdgmV
nyU© H$aVrb?
1) 20 {Xdg 2) 10 {Xdg 3) 15 {Xdg 4) 22 {Xdg

7) 4 men or 6 women can do a piece of work in 20 days. In how many days 2 men and 9 women

together can do the same work ?

1) 20 days 2) 10 days 3) 15 days 4) 22 days

8) Oo H$m‘ amOy 60 {Xdgm§V H$aVmo VoM H$m‘ g§Oy 40 {Xdgm§V H$aVmo, Va Vo XmoKo {‘iyZ VoM H$m‘ {H$Vr {Xdgm§V H$aVrb?
1) 42 {Xdg 2) 100 {Xdg 3) 24 {Xdg 4) 30 {Xdg

8) Raju finishes a work in 60 days, Sanju finishes the same work in 40 days. In how many days will

both finish the same work ?

1) 42 days 2) 100 days 3) 24 days 4) 30 days

9) A Am{U B EH$ H$m‘ AZwH«$‘o 15 Am{U 10 {Xdgm§‘Ü¶o nyU© H$aVmV. XmoKm§Zr EH$Ì H$m‘ H$aÊ¶mg gwédmV Ho$br, na§Vw
XmoZ {Xdgm§Z§Va B bm H$m‘ gmoS>mdo bmJbo Am{U Cabobo H$m‘ A Zo nyU© Ho$bo. ho H$m‘ {H$Vr {Xdgm§‘Ü¶o nyU© Pmbo?
1) 8 {Xdg 2) 10 {Xdg 3) 12 {Xdg 4) 15 {Xdg

9) A and B can complete a work in 15 days and 10 days respectively. They started doing the work

together, but after 2 days B had to leave and A alone completed the remaining work. In how many

days was the work completed ?

1) 8 days 2) 10 days 3) 12 days 4) 15 days

10) EH$ ~m§YH$m‘ H$aÊ¶mgmR>r 10 g‘mZ doJmZo H$m‘ H$aUmè¶m H$m‘Jmam§Mr Zo‘UyH$ Ho$br. 2 H$m‘Jmam§Zr 2 è¶m {Xder H$m‘
gmoS>bo, Xþgè¶m XmoKm§Zr 3 è¶m {Xder H$m‘ gmoS>bo d ho Ago H$m‘ g§non¶ªV Mmby am{hbo. ¶mÀ¶m n[aUm‘r H$m‘ g§nm¶bm
XmoZ {Xdg OmñV bmJbo.
Oa 10 H$m‘Jmam§Zr gd© {Xdg H$m‘ Ho$bo AgVo Va H$m‘ H$am¶bm bmJUmao {Xdg {ZdS>m.
1) 2 2) 3 3) 4 4) 5

10) 10 workers working with same speed were deployed to construct a structure. 2 workers left on

the And day, another 2 left on the 3’d day and this went on till the work is completed. As a result

2 more days were needed to complete the work.

Select the number of days that were needed if 10 workers worked for all days.

1) 2 2) 3 3) 4 4) 5

11) EH$Q>m A EH$ Ka 15 {XdgmV ~m§Yy eH$Vmo. VoM Ka B EH$Q>m 10 {XdgmV ~m§Yy eH$Vmo. Oa A Am{U B ho EH$ {XdgmAmS>
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H$m‘ H$arV AgVrb Am{U Oa A n{hë¶m {Xder H$m‘ H$aVmV; Va Vo Ka ~m§YÊ¶mgmR>r {H$Vr {Xdg bmJVrb?
1) 12 2) 13 1/2 3) 14 4) 10 4/3

11) A can build a house alone in 15 days but B alone can build it in 10 days. A and B work on alternate

days. If A works on the first day, in how many days will the house be built?

1) 12 2) 13 1/2 3) 14 4) 10 4/3

12) Zohm EH$ H$m‘ 6 {Xdgm§V nyU© H$aVo Am{U aoIm VoM H$m‘ 18 {Xdgm§V nyU© H$aVo. Oa Ë¶m XmoKtZr EH$Ì H$m‘ Ho$co Va
Ë¶m§Zm Vo H$m‘ nyU© H$aÊ¶mg {H$Vr {Xdg cmJVrc ?
1) 4.5 2) 4 3) 5 4) 3.5

12) Neha can do a work in 6 days and Rekha can do it in 18 days. How many days would it take them

to do the same work if they worked together ?

1) 4.5 2) 4 3) 5 4) 3.5

13) 400 ‘mUgo, EH$m {XdgmV 9 Vmg H$m‘ H$ê$Z Ë¶m H$m‘mMm 1/4 ^mJ 10 {Xdgm§V nyU© H$aVmV. Va Xa {Xder Ë¶mM
JVrZo 8 Vmg H$m‘ H$aUmar {H$Vr A{V[aº$ ‘mUgo Cabobo H$m‘ 20 {XdgmV nyU© H$aVrb ?
1) 275 2) 250 3) 675 4) 400

13) 400 persons, working 9 hours a day complete 1/4 th of the work in 10 days. How many of additional

persons, working 8 hours a day, required to complete the remaining work in 20 days ?

1) 275 2) 250 3) 675 4) 400

14) nmM H$m‘Jma Xhm {XdgmV EH$ H$m‘ nyU© H$aVmV. Xhm H$m‘Jmam§Zm VoM H$m‘ nyU© H$aÊ`mgmR>r {H$Vr {Xdg bmJVrb?
1) 10 2) 5 3) 15 4) 1

14) Five workers complete one job in ten days. How many days wil be required to complets the same

job by ten workers?

1) 10 2) 5 3) 15 4) 1

15) A Am{U B XmoÝhr EH$ H$m‘ 4 {XdgmV nyU© H$aVmV. Oa A Zo gm§{JVbobo H$m‘ 12 {XdgmV nyU© Ho$bo, Va B bm VoM
H$m‘ nyU© H$aÊ`mgmR>r {H$Vr {Xdg bmJVrb?
1) 6 2) 8 3) 6 2/3 4) 8 1/3

15) Both A and B completes a work in 4 days. If A complete the said work in 12 days, then how many

days will take by B to complete the same work?

1) 6 2) 8 3) 6 2/3 4) 8 1/3

16) A Am{U ~ XmoKo {‘iyZ EH$ H$m‘ 6 {XdgmV nyU© H$aVmV. A EH$Q>m VoM H$m‘ 18 {XdgmV nyU© H$aVmo, Va VoM H$m‘
EH$Q>m ~ {H$Vr {XdgmV nyU© H$aob ?
1) 14 {Xdg 2) 10 {Xdg 3) 12 {Xdg 4) 9 {Xdg

16) A and B together complete a piece of work in 6 days. If A alone completes the same work in 18

days, in how many days will B alone complete the same work?

1) 14 days 2) 10 days 3) 12 days 4) 9 days
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2) nmB©n> Am{U hm¡X
1) EH$ hm¡X A, B Am{U C ¶m VrZ ZimZo 6 VmgmV ̂ aVmo. XmoZ VmgmZ§Va C Zi ~§X Ho$bm Am{U Cabobm hm¡X 7 VmgmV

A Am{U B ZimZo ^abm Va, ’$º$ C ZimZo hm¡X {H$Vr doimV ^aob ?

1) 14 Vmg 2) 12 Vmg 3) 10 Vmg 4) 16 Vmg
1) A cistern is filled in 6 hours by three taps A, E and U. If after two hours tap U is turned off and the

remaining tank is filled in 7 hours by tap A and E, in how much time will tank be filled by tap U

alone?

1) 14 hours 2) 12 hours 3) 10 hours 4) 16 hours

2) EH$ Z{bHo$Zo EH$ Q>mH$s 4,1/2 VmgmV ^aVo. nU ~wS>mer Agboë¶m JiVr‘wio Vr ^aÊ¶mgmR>r 1,1/2 Vmg OmXm
bmJVmV. Oa hr Q>mH$s nyU© ^abobr Agob Va JiVr‘wio Vr [aH$m‘r ìhm¶bm bmJUmam doi {ZdS>m.
1) 18 Vmg 2) 12 Vmg 3) 9 Vmg 4) 10 Vmg

2) A pipe can fill the tank in 4,1/2 hours. But due to leakage at the bottom, it takes 1,1/2 hours more

to fill it. If the tank is full select the time that it will require to get emptied due to leak.

1) 18 hrs. 2) 12 hrs. 3) 9 hr. 4) 10 hr.

3) KS>çmi Am{U doi
1) XþnmaMo 12 dmOm¶bm {OVH$s {‘{ZQ>o {e„H$ AmhoV Ë¶mÀ¶m {VßnQ> {‘{ZQ>o 32 {‘{ZQ>m§nydu 9 dmOyZ Joë¶mZ§Va Pmbobr

hmoVr. Va {VVH$s {‘{ZQ>o {ZdS>m.
1) 37 2) 33 3) 31 4) 30

1) Select the minutes before 12 noon if 32 minutes ago it was three times as many minutes before

past 9 am.

1) 37 2) 33 3) 31 4) 30

2) [aZm, {Q>Zm Am{U {hZm ¶m§Zr EH$mM doir EH$mM {XeoZo EH$mM q~XÿnmgyZ dVw©imH$ma H«$sS>m§JUm^modVr Ymdm¶bm gwédmV
Ho$br. EH$ ’o$ar [aZmZo 70 goH§$XmV, {Q>ZmZo 105 goH§$XmV Am{U {hZmZo 175 goH§$XmV nyU© Ho$br. Ë¶m {VKr {H$Vr doimZo
nwÝhm àma§{^H$ q~XÿOdi ôQ>Vrb?
1) 17 {‘. 3 go. 2) 34 {‘. 30 go. 3) 71 {‘. 30 go. 4) 17 {‘. 30 go.

2) Rina, Tina and Hina are starting at the same time from the same point in the same direction to run

around the circular playground. Rina completes a round in 70 seconds, Tina in 105 seconds and

Hina in 175 seconds. After how much time will they meet again at the starting point ?

1) 17 minutes 3 seconds 2) 34 minutes 30 seconds

3) 71 minutes 30 seconds 4) 17 minutes 30 seconds.

3) AmJJmS>r 'M' ‘oaR>dê$Z gH$mir 5.00 dmOVm gwQ>Vo d {X„rbm gH$mir 9.00 dmOVm nmohMVo. AmJJmS>r 'N' {X„rdê$Z
gH$mi 7.00 dmOVm gwQ>Vo d ‘oaR>bm gH$mir 10.30 dmOVm nmohMVo. Va XmoÝhr AmJJmS>rMr EH$‘oH$m§g Amobm§S>Ê¶mMr
Zo‘H$s doi H$moUVr Agob?
1) gH$mir 7.36 dmOVm 2) gH$mir 7.56 dmOVm 3) gH$mir 8.00 dmOVm 4) gH$mir 8.26 dmOVm

3) Train ‘M’ leaves Meerut at 5.00 a.m. and reaches Delhi at 9.00 a.m. Train ‘N’ leaves Delhi at 7.00

a.m. and reaches Meerut at 10.30 a.m. At what exact time do the two trains cross each other ?

1) 7.36 a.m. 2) 7.56 a.m. 3) 8.00 a.m. 4) 8.26 a.m.
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4) KS>çmimMm Vmg d {‘{ZQ> H$mQ>m ghOnUo hmbMmb H$aVmV, KS>çmi 8 Vo 9 À¶m Xaå¶mZMm doi XmIdV Amho Am{U
KS>çmimMo XmoÝhr H$mQ>o EH$‘oH$m§da AmhoV Ago J¥hrV Yam.
A§XmOo {H$Vr {‘{ZQ>m§Zr ¶m KS>çmimMo XmoÝhr H$mQ>o nwÝhm nañnam§da ¶oVrb VodT>r {‘{ZQ>o XmIdUmam n¶m©¶ {ZdS>m.
1) 60 2) 62 3) 65 4) 67

4) Assume that the hour hand and minute hand of a watch is moving smoothly, the clock is displaying

time between 8 O’clock and 9 O’clock and the two hands of the clock are coinciding.

Select the nearest time in approximate minutes at which the two hands will be lying again one

above the other.

1) 60 2) 62 3) 65 4) 6

5) 'A' hm dVw©imH$ma joÌm^modVr EH$m ’o$ar à{V Vmg ¶m doJmZo {’$aVmo. Va 'B' Ë¶m^modVr Vmgmbm 6 ’o$è¶m ¶m doJmZo {’$aVmo.
Vo EH$mM q~XÿnmgyZ Ë¶mM{XeoZo gH$mir 7…30 dmOVm {’$aUo gwê$ H$aVmV. Vo àW‘ EH$‘oH$m§Zm Ho$ìhm Amobm§S>Vrb ?
1) gH$mir 8…30 dmOVm 2) gH$mir 8…10 dmOVm
3) gH$mir 7…48 dmOVm 4) gH$mir 7…42 dmOVm

5) 'A' waiks around a circular field at the rate of one round per hour, while 'B' runs it at the

rate of 6 rounds per hour. They start in the same direction from the same point at 7:30 a.m..

They shall first cross each other at :

1) 8:30 a.m. 2) 8:10 a.m. 3) 7:48 a.m. 4) 7:42 a.m.

6) Oa KS>çmimMr V~H$S>r 12 Vmgm§V {d^mJÊ¶mEodOr 8 Vmgm§V {d^mJbr Va nwT>rbn¡H$s H$moUVr A§H$OmoS>r g‘moamg‘moa
AgUma Zmhr ?
1) 6, 2 2) 5, 2 3) 7, 3 4) 5, 1

6) If the face of a clock is divided into 8 hours instead of 12 hours, which of the following pairs of

numbers will not be opposite each other?

1) 6, 2 2) 5, 2 3) 7, 3 4) 5, 1

7) ZrVmZo gH$mir 6 dmOVm {VMo ‘ZJQ>mMo KS>çmi Q>o~bmda R>odbo Am{U Ë`m doir VmgmMm hmV nyd}H$S>o g§aopIV Pmbm.
amÌr 9.15 dmOVm {‘{ZQ>mMm hmV H$moUË`m {Xeobm XmIdob?
1) CÎma 2) nyd© 3) X{jU 4) npíM‘

7) Neeta put her wrist watch on the table at 6 a.m. and that time hour hand was aligned to East. In

which direction the minute hand will point at 9.15 p.m.?

1) North 2) East 3) South 4) West

4) H°$b|S>a d H$mb‘mnZ
1) nadm gmo‘dma Amho. CÚm 3 VmarI Amho. Va nwT>À¶m a{ddmabm H$moUVr VmarI Agob?

1) 8 2) 9 3) 10 4) 11
1) The day after is Monday. The date tomorrow is 3. Then what will be the date on next Sunday?

1) 8 2) 9 3) 10 4) 11
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2) {ZaOMo KS>çmi EH$m {XdgmV 5 1  {‘{ZQ>o nwT>o OmVo. Va {n¶wfMo KS>çmi Xa Vmgmcm 35 goH§$X ‘mJo nS>Vo. Oa
                                2
XmoKm§Zr gH$mir AmR> dmOVm KS>çmi ~amo~a cmdco, Va Ë¶mM {Xder amÌr 12 dmOVm {ZaOMo KS>çmi {n¶wfÀ¶m
KS>çmù¶mnojm {H$Vr {‘{ZQ>o nwT>o Agoc ?
1) 10 {‘{ZQ>o 2) 13 {‘{ZQ>o  3) 9 {‘{ZQ>o 4) 14 {‘{ZQ>o

2) Niraj's watch is fast by 5,1/2 minutes in a day. Piyush's watch lags behind by 35 seconds per hour.

If their watches indicated the same time at 8 o'clock in the morning, then by how many minutes

would Neeraj's watch be ahead of Piyush's watch that night at 12 o'clock ?

1) 10 minutes 2) 13 minutes 3) 9 minutes 4) 14 minutes

3) H$moUVr doi Vmg H$mQ>m d {‘{ZQ> H$mQ>m ¶m‘Ü¶o 1510 Mm H$moZ Xe©dob?
1) 12 … 26 2) 12 … 38 3) 12 … 37 4) 12 … 27

3) What time shows 151° angle between the hour hand and minute hand ?

1) 12:26 2) 12:38 3) 12:37 4) 12:27

4) EH$ Q>mobm Xa 18 {‘{ZQ>mZ§Va dmOVmo. Xþgam Q>mobm Xa 24 {‘{ZQ>mZ§Va dmOVmo. {Vgam Q>mobm Xa 32 {‘{ZQ>mZ§Va dmOVmo.
Oa ho VrZhr Q>mobo gH$mir 8 dmOVm EH$Ì dmObo Va Ë¶mZ§Va nwÝhm Vo EH$Ì dmOÊ¶mMr doi {ZdS>m.
1) 12 dm. 40 {‘{ZQ>o 2) 12 dm. 48 {‘{ZQ>o
3) 12 dm. 56 {‘{ZQ>o 4) 13 dm. 4 {‘{ZQ>o

4) A bell rings every 18 minutes. Second bell rings every 24 minutes. A third bell rings every 32

minutes. If all three bells ring at 8 am together then select the next time they all ring together.

1) 12hrs 40 mins 2) 12 hrs 48 mins 3) 12 hrs 56 mins 4) 13 hrs 4 mins

5) 3…37 dmOVm KS>çmimMr AmaemVrb à{V‘m H$moUVr doi Xe©{dVo?
1) 8…23 2) 8…13 3) 9…13 4) 9…23

5) What will be the mirror image of a clock at 3:37 ?

1) 8:23 2) 8:13 3) 9:13 4) 9:23

6) doi gm§JÊ¶mMr {dZ§Vr Ho$ë¶mda ì¶º$s åhUmbr, ""‘Ü¶amÌrnmgyZ AmÎmmn ª̀VÀ`m doioÀ¶m Mm¡Ï¶m ^mJmV AmÎmmnmgyZ
¶oUmè¶m ‘Ü¶amÌrÀ¶m doioMm {Zå‘m ^mJ {‘idm. Vwåhmbm AmÎmmMr doi {‘iob''.
ì¶º$s dU©Z H$aV Agbobr doi {ZdS>m.
1) 8…36 2) 9…36 3) 9…38 4) 10…38

6) When requested for tinté the person said, "If you add one quarter of time from midnight till now

to half the time from now till next midnight, you get the present time’.

Select the time that person is describing.

1) 8:36 2) 9:36 3) 9:38 4) 10:38

7) {dZ¶bm AmR>dVo H$s Ë¶mÀ¶m AmB©Mm dmT>{Xdg 26 Am°JñQ> À¶m Z§Va na§Vw 29 Am°JñQ> À¶m AmV Amho. Va Ë¶mÀ¶m
^mdmbm {dH$mgbm AmR>dVo H$s AmB©Mm dmT>{Xdg 27 Am°JñQ>À¶m Z§Va na§Vw 30 Am°JñQ>À¶m AmV Amho. Va Ë¶m§À¶m
AmB©Mm dmT>{Xdg H$moUË¶m {Xder AgVmo ?
1) 26 Am°JñQ> 2) 27 Am°JñQ> 3) 28 Am°JñQ> 4) 30 Am°JñQ>
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7) Vinay remembered that his mother’s birthday is after 26 August but before 29" August. While his

brother Vikas remembered that his mother’s birthday is after 27" August but before 30‘ August.

What is the birth date of their mother ?

1) 26 August 2) 27 August 3) 28 August 4) 30 August

8) 30 {Xdgm§À¶m EH$m ‘{hÝ¶mV nmM e{Zdma AmhoV. Ë¶m ‘{hÝ¶mMm àW‘ {Xdg H$moUVm Agob?
1) a{ddma 2) gmo‘dma 3) ~wYdma 4) ewH«$dma

8) There are five Saturdays in a month of 30 days. What will be the first day of the month?

1) Sunday 2) Monday 3) Wednesday 4) Friday

9) Ho$VH$sMm dmT>{Xdg hm 4 Owb¡bm, ‘§Jidmar AgVmo. Va Ë¶mM dfm©V Am¶wf hm 15 Am°JñQ>bm OÝ‘bm Agob, Va Vmo
H$moUVm {Xdg Agob ?
1) e{Zdma 2) ‘§Jidma 3) ~wYdma 4) Jwédma

9) Ketaki’s birthday is on Tuesday, 4* July. On what day of the week will be Ayush’s

birthday in the same year, if Ayush was born on 15" August ?

1) Saturday 2) Tuesday 3) Wednesday 4) Thursday

10) gmÝdrMm 28 ’o$~«wdmar, 2018 amoOr OÝ‘ Pmbm. Va {VÀ¶m 22 ì¶m dmT>{XdgmÀ¶m {Xder H$moUVm dma ¶oB©b?
1) ‘§Jidma 2) gmo‘dma 3) ~wYdma 4) ewH«$dma

10) Sanvi was born on 28 th February 2018. Then on which day her 22 nd birthday will come ?

1) Tuesday 2) Monday 3) Wednesday 4) Friday

11) 17 {Xdgm§Zr Zo„r {VMm àH$ën gmXa H$aUma Amho. AmO ‘§Jidma 23 ’o$~«wdmar 2019 Amho. Zo„r ñdV…Mm àH$ën
gmXa H$arb Vmo dma {ZdS>m.
1) ~wYdma 2) Jwédma 3) ewH«$dma 4) e{Zdma

11) Nelli will be presenting her project in 17 days. Today is Tuesday the 23rd of February, 2019.

Select the day on which will Nelli present her project ?

1) Wednesday 2) Thursday 3) Friday 4) Saturday

12) A{ZVm, gw{ZVm d H${dVm ¶m§Zr EH${ÌV ~mJoV ¶oÊ¶mMo R>a{dbo, A{ZVm gH$mir 10.30 bm 20 {‘. H$‘r AgVmZm ~mJoV
Ambr. Vr gw{ZVmnojm AYm© Vmg bdH$a Ambr, gw{ZVm hr H${dVmnojm 1 Vmg C{eam Ambr, H${dVm R>aboë¶m doioÀ¶m
AYm© Vmg AJmoXa Ambr, Va ~mJoV {Z¶mo{OV doioV H$moU nmohMbo ?
1) A{ZVm 2) gw{ZVm 3) H${dVm 4) H$moUrhr Zmhr

12) Anita, Sunita and Kavita decided to come to the garden together, Anita at 10.30 am for 20 min.

Came to the garden when it was less. She came half an hour earlier than Sunita, Sunita came 1

hour later than Kavita, Kavita came half an hour before the appointed time, then who reached the

garden at the appointed time?

1) Anita 2) Sunita 3) Kavita 4) None
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5) d¶mdarb àíZ
1) g§O¶nojm {ZVrZ 3 dfmªZr ‘moR>m Amho. g§O¶Mo d¶ {H$aU À¶m d¶mÀ¶m XþßnQ> Amho. Oa Ë¶m§À¶m {VKm§À¶m d¶m§Mr EHy$U

~oarO 103 Amho. Va {ZVrZ {H$Vr dfm©Mm Amho ?
1) 20 2) 34 3) 40 4) 43

1) Nitin is 3 year older than Sanjay, who is twice as old as Kiran. If the sum of total age of all three

is 103, then how old is Nitin ?

1) 20 2) 34 3) 40 4) 43

2) EH$m ì¶º$sMo AmOMo d¶ Ë¶mÀ¶m AmB©À¶m d¶mÀ¶m 2/5 BVHo$ Amho. 8 dfm©Z§Va Vo Ë¶mÀ¶m AmB©À¶m Ë`mdoiÀ`m d¶mÀ¶m
1/2 BVHo$ Agoc Va Ë¶mÀ¶m AmB©Mo d¶ {H$Vr ?
1) 70 2) 60 3) 40 4) 62

2) A person’s present age is 2/5 of the age of his mother. After 8 years he will be 1/2 of the age of his

mother. How old is mother at present ?

1) 70 2) 60 3) 40 4) 62

3) ‘wbrMo d¶ 16 df} Amho Am{U ‘wbJr hr AmB©-d{S>bm§À¶m b¾mZ§Va 1 dfmªZr OÝ‘bobr Amho. Oa AmB© d{S>cm§À`m d¶m§Mr
~oarO Am{U b¾mÀ¶m dfm©Mr ~oarO 116 Amho. AmB©Mo d¶ d{S>cm§À`m d¶mnojm 3 dfmªZr H$‘r Agob Va d{S>cm§Mo d¶
{H$Vr Amho ?
1) 56 df} 6 ‘{hZo 2) 51 df} 3) 48 df} 4) 99 df}

3) A daughter is 16 years of age, who was born after one year of parent’s marriage. The sum of total

age of parents and their marriage is 116 years. Mother is 3 year younger than father, then what is

the age of father ?

1) 56 years 6 months 2) 51 years 3) 48 years 4) 99 years

4) EH$m Hw$Qw>§~mVrb OmoS>ß¶mbm EH$ ‘wbJm Am{U EH$ ‘wbJr Amho. d{S>bm§Mo d¶ Ë¶m§À¶m ‘wbrÀ¶m d¶mÀ¶m MmanQ> Amho; Am{U
‘wbmMo d¶ Ë¶mÀ¶m AmB©À¶m d¶mÀ¶m EH$V¥Vr¶m§e Amho. nËZr {VÀ¶m nVrnojm Mma dfmªZr bhmZ Amho Am{U ^mD$ Ë¶mÀ¶m
~{hUrnojm Mma dfmªZr ‘moR>m Amho. Va AmB©Mo d¶ {H$Vr ?
1) 40 df} 2) 48 df} 3) 54 df} 4) 60 df}

4) In a family a couple has a son and a daughter. The age of the father is four times that of his

daughter and the age of the son is one third of that of his mother. The wife is 4 years younger to

her husband and the brother is 4 years older than his sister. What is the age of the mother ?

1) 40 years 2) 48 years 3) 54 years 4) 60 years

5) 8 dfm©nydu Zohm d aoIm ¶m§À¶m d¶m§Mo JwUmoÎma 2…5 hmoVo AmO Ë¶m§À¶m d¶m§Mo JwUmoÎma 1…2 Amho. Va ZohmMo
AmOMo d¶ {H$Vr?
1) 20 df} 2) 22 df} 3) 25 df} 4) 24 df}

5) If 8 yearago, the ages of Neha and Rekha were in the ratio 2 : 5 and the ratio of todays ages

is 1 : 2, then what is todays age of Neha ?

1) 20 yrs 2) 22 yrs 3) 25 yrs 4) 24 yrs
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For Private Circulation Only

6) Oa ZrVmMo d¶ {VÀ¶m AmB©À¶m d¶mÀ¶m {Zåå¶mnojm 5 dfmªZr H$‘r Amho, VgoM XmoKtÀ¶m d¶m§Mr ~oarO 58 Amho. Va
ZrVmMo d¶ {H$Vr ?
1) 12 2) 30 3) 16 4) 21

6) If the age of Neeta is 5 years less than half of her mother’s age, sum of the ages of - Neeta and her

mother is 58 years. Find the age of Neeta.

1) 12 2) 30 3) 16 4) 21

7) ‘§Ìm, Omo go~m nojm Mma nQ> ‘moR>m Amho, Vmo AmVm drg dfm©Mm Amho. Ooìhm Ë¶mMo d¶ go~mÀ¶m d¶mÀ¶m 2.5 nQ> hmoB©b
Voìhm Vmo {OV³¶m d¶mMm hmoB©b Ë¶m g§»¶oMr {ZdS> H$am.
1) 85 2) 65 3) 45 4) 25

7) Mantra, who is four times older than Seba, is twenty years old now. Select his age when he will be

2-5 times older than Seba.

1) 85 2) 65 3) 45 4) 25

8) 3 dfm©À¶m A§VamZo OÝ‘boë¶m 5 ‘wbm§À¶m d¶mMr ~oarO 50 df} Amho Va gdm©V bhmZ ‘wbmMo d¶ {ZdS>m.
1) 3 2) 4 3) 5 4) 7

8) The sum of ages of 5 children born at the interval of 3 years each is 50 years. Select the option

that indicates age of youngest child.

1) 3 2) 4 3) 9 4) 7

9) EH$ ‘{hbm åhUVo, ''Oa ‘mÂ¶m d¶mÀ¶m A§H$m§Mr CbQ>nmbQ> Ho$br Va Vo ‘mÂ¶m d{S>bm§Mo d¶ Xe©{dVo. AWm©V ‘mPo dS>rb
‘mÂ¶mnojm d¶ñH$a Amho Am{U Am‘À¶m d¶mVrb ’$aH$ hm Am‘À¶m d¶m§À¶m ~oaOoÀ¶m VrZ-AH$am§e Amho.'' Va ‘{hboMo
d¶ {H$Vr?
1) 45 df©o 2) 36 df} 3) 37 df} 4) 46 df}

9) A woman says, "If you reverse my own age, the figures represent my father's age. He is of course

older to me and the difference between our ages is three-eleventh of their sum." The women's age

is

1) 45 years 2) 36 years 3) 37 years 4) 46 years

10) dS>rb d ‘wbmÀ¶m AmOÀ¶m d¶mMr ~oarO 50 df} Amho. Mma dfmªnydu d{S>bm§Mo d¶ ‘wbmÀ¶m Ë¶mdoiÀ¶m d¶mÀ¶m 6 nQ> hmoVo.
Va dS>rb d ‘wbmMo AZwH«$‘o AmOMo d¶ {H$Vr?
1) 35 df}, 15 df} 2) 38 df}, 12 df} 3) 40 df}, 10 df} 4) 42 df}, 8 df©o

10) The sum of the ages of a father and his son is 50 years. Four years ago, father's age was six times

as that of his son. What are the present ages of the father and son respectively ?

1) 35 yrs., 15 yrs. 2) 38 yrs., 12 yrs. 3) 40 yrs., 10 yrs. 4) 42 yrs., 8 yrs.

11) VrZ ì¶º$s¨À¶m d¶mMr gamgar 60 df} Amho. Ë¶m§À¶m d¶mMo JwUmoÎma 2 : 3 : 4 Ago Amho. gdm©V VéU Am{U gdm©V
d¶ñH$a ì¶º$s¨À¶m d¶mVrb ’$aH$ {H$Vr ?
1) 25 df} 2) 30 df} 3) 40 df} 4) 45 df}

11) The average age of three person is 60 years. Their ages are in 2 : 3 : 4. What is the difference of

the ages of the youngest and the eldest person ?

1) 25 years 2) 30 years 3) 40 years 4) 45 years
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12) grVm Am{U JrVm `m§À`m gÜ`mÀ`m d`mMo JwUmoÎma 7 : 9 Amho VrZ dfmªnydu Ë`m§Mo d` 3 : 4 Ago hmoVo. grVoMo gÜ`mMo
d` {H$Vr Amho?
1) 21 df} 2) 28 df} 3) 27 df} 4) 36 df}

12) The ratio of present age of Seeta and Geeta is 7 : 9 Three years ago their ages were in the ratio

3 : 4. What is the present age of Seeta?

1) 21 Years 2) 28 Years 3) 27 Years 4) 36 Years

13) ZrZmMo gÜ`mMo d` 10 dfmªZ§VaÀ`m d`mÀ`m 831/3% Amho. {VMo gÜ`mMo d` H$m` Amho?
1) 76 2) 60 3) 56 4) 40

13) Nina's present age is 831/
3
% of what it will be after 10 years. What is her present age?

1) 76 2) 60 3) 56 4) 40

14) EH$m ì¶º$sMo gÜ¶mMo d¶ Ë¶mÀ¶m AmB©À¶m 2/5 EdT>o Amho. 8 dfm©Z§Va Vmo Ë¶mÀ¶m AmB©À¶m 1/2 d¶mBVHo$ hmoB©b Va
Ë¶mÀ¶m AmB©Mo gÜ¶mMo d¶ {H$Vr ?

1) 32 2) 36 3) 40 4) 48
14) A person's present age is 2/5 of his mother's. After 8 years he will be 1/2 his mother's age then

what is his mother's present age?

1) 32 2) 36 3) 40 4) 48

15) ñZohmMo d¶ {VÀ¶m d{S>bm§À¶m d¶mÀ¶m 1/5 Amho. 10 dfmªZr ñZohmÀ¶m d{S>bm§Mo d¶ ñdmVrÀ¶m d¶mÀ¶m {VßnQ> hmoB©b.
ñdmVrMm 7 dm dmT>{Xdg VrZ dfmªnydu gmOam Ho$bm Va ñZohmMo AmOMo d¶ {H$Vr ?
1) 14 df} 2) 20 df} 3) 10 df} 4) 5 df}

15) Sneha's age is 1/5 of her father's age. After 10 years Sneha's father's age will be three times

Swati's age. If Swati's 7th birthday was celebrated three years ago, what is Sneha's age today?

1) 14 years 2) 20 years 3) 10 years 4) 5 years

16) ê$nmbrMo d¶ 15 dfm©nydu 30 df} hmoVo. Va Vr {H$Vr dfmªZr 55 dfm©Mr hmoB©b ?
1) 10 2) 25 3) 15 4) 20

16) Rupali's age was 30 years before 15 years. So in how many years will she be 55 years old?

1) 10 2) 25 3) 15 4) 20
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6) g§̂ mì`Vm, H«$‘M¶, gamgar, doZ AmH¥$Ë¶m

1) gamgar
2) g§̂ mì`Vm
3) H«$‘M¶
4) doZ AmH¥$Ë¶m

1) gamgar
1) ZD$ H«$‘dma {df‘ g§»¶m§Mr gamgar 103 Amho. Va Ë¶mVrc gdm©V ‘moR>çm XmoZ g§»¶m§Mr gamgar H$m¶

1) 109 2) 112 3) 110 4) 107
1) The average of the Nine consecutive odd numbers is 103. So what will be the average of the two

largest numbers of them ?

1) 109 2) 112 3) 110  4) 107

2) AZwH«$‘o 1 Vo 97 ‘Yrb Z¡g{J©H$ g§»¶m§Mr gamgar H$mT>m.
1) 47 2) 37 3) 48 4) 49

2) Find the average of natural numbers between 1 to 97.

1) 47 2) 37 3) 48 4) 49

3) Imbrb g§»¶m§Mm ‘Ü¶m§H$ 'X' Amho Ago ‘mZy 13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 14, 15, 16, 15, 14.
Oa 8 EodOr 18 hr g§»¶m KoVbr, Va ¶oUmam ‘Ü¶m§H$ 'Y' ¶oVmo. Va 'X' Am{U 'Y' ¶m§Mr ~oarO {H$Vr?
1) 30 2) 27 3) 28 4) 29

3) Let ‘X’ be the median of the data 13, 8, 15, 14, 17, 9, 14, 16, 18, 17, 14, 15, 16, 15, 14.

If 8 is replaced by 18, then median of the data is ‘Y’. What is the sum of values of ‘X’ and ‘Y’ ?

1) 30 2) 27 3) 28 4) 29

4) Oa Imbrb g§»¶mË‘H$ ‘m{hVrMm ‘Ü¶‘mZ 6 Agob Va Imbrb ‘m{hVr‘Ü¶o 'P' Mr qH$‘V {H$Vr Agob ?

1) 66 2) 14 3) 07 4) 03
4) If mean of the following data is 6. Then find out the value of P :

1) 66 2) 14 3) 07 4) 03

5) gmV H«$‘dma {df‘ g§»¶m§Mr gamgar 20 Amho Va Ë¶mVrb gdm©V ‘moR>r g§»¶m H$moUVr?
1) 14 2) 16 3) 20 4) 26

5) The average of 7 consecutive odd numbers is 20. Find the largest number among them.

1) 14 2) 16 3) 20 4) 26
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2) g§̂ mì`Vm
1) EH$m {nedr‘Ü¶o 3 nm§T>ao, 2 {Zio d 5 bmb M|Sy> AmhoV. Oa ¶mÑpÀN>H$ nÕVrZo {nedr‘YyZ 1 M|Sy> Oa H$mT>bm, Va

H$mT>bobm M|Sy> bmb Zmhr, ¶mMr g§̂ mì¶Vm {H$Vr Amho?
1) 4/5 2) 3/10 3) 1/5 4) 1/2

1) A bag contains 3 white, 2 blue and 5 red balls. One ball is drawn at random from the bag. What is

the probability that the ball drawn is not red ?

1) 4/5 2) 3/10 3) 1/5 4) 1/2

2) EH$m {nedrV 10 nm§T>ao, 16 bmb Am{U 14 H$mio M|Sy> AmhoV. Oa ¶mÑpÀN>H$nUo EH$ M|Sy> Ë¶mVyZ H$mT>Ê¶mV Ambm Va
bmb qH$dm H$mim M|Sy> {ZKÊ¶mMr {H$Vr e³¶Vm Amho ?
1) 1/1 2) 3/4 3) 7/3 4) 2/40

2) A bag contains 10 white, 16 red and 14 black balls. A ball is drawn randomly from it, then the

probability of drawing a red or black ball is ?

1) 1/1 2) 3/4 3) 7/3 4) 2/40

3) EH$m {nedr‘Ü¶o 2 bmb, 3 {hado Am{U 2 {Zio M|Sy> AmhoV. Oa ¶mÑpÀN>H$VoZo XmoZ M|Sy> H$mT>bo, Va Ë¶mV EH$hr M|Sy>
{Zim ZgÊ¶mMr g§̂ mì¶Vm {H$Vr?
1) 2/7 2) 11/21 3) 10/21 4) 5/7

3) If a bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the

probability that non of the balls drawn is blue ?

1) 2/7 2) 11/21 3) 10/21 4) 5/7

4) gmV {¼g‘g ̂ oQ>dñVy Am{U gmV g§JV IwUm Ho$coco EH$gmaIo ImoHo$ AmhoV. Oa ̂ oQ>r ¶mÑpÀN>H$ [aVrZo Imo³¶mV R>odë¶m
Va Zo‘³¶m ghm ôQ>r Zo‘³¶m ¶mo½¶ IwUoÀ¶m Imo³¶mV OmÊ¶mMr g§̂ mì¶Vm {ZdS>m.
1) 1/6 2) eyÝ¶ 3) 1/7 4) 6/7

4) There are seven Christmas gifts and seven correspondingly tagged identical boxes. If the gifts are

randomly put in the boxes, select the probability that exactly six gifts go into the correctly tagged

boxes,

1) 1/6 2) Zero 3) 1/7 4) 6/7

5) EH$m Imo³¶mV 8 bmb, 7 {Zio d 6 {hado ~m°b AmhoV. Ë¶mVrb EH$ ~m°b A§XmOo CMbbm Va bmb Am{U {hadm ZgÊ¶mMr
e³¶Vm {H$Vr ?
1) 1/3 2) 3/4 3) 8/21 4) 9/21

5) A box contains 8 red, 7 blue and 6 green balls. If one of the balls is picked approximately what is

the probability that it is neither red nor green?

1) 1/3 2) 3/4 3) 8/21 4) 9/21

6) 'IMPOSSIBLE' ¶m AjamVyZ ì¶§OZ {ZdSy>Z ¶oÊ¶mMr g§̂ mì¶Vm {H$Vr Amho ?
1) 3/5 2) 6/6 3) 1/10 4) 4/10

6) What is the probability of selecting a consonant from the letter 'IMPOSSIBLE' ?
1) 3/5 2) 6/6 3) 1/10 4) 4/10
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3) H«$‘M¶
1) 25 OUm§À¶m g‘whmVrb àË¶oH$mZo EH$‘oH$mg hñVm§XmobZ Ho$ë¶mg EHy$U hñVm§XmobZmMr g§»¶m {H$Vr Agob?

1) 125 2) 625 3) 250 4) 300
1) There are 25 people in a group. If all shake hands with one another, how many handshakes are

possible?

1) 125 2) 625 3) 250 4) 300

2) EH$m {H«$Ho$Q> ñnY}gmR>r doJdoJù¶m 18 g§KmZo Amnbo Zmd Zm|X{dbo Amho. àË¶oH$ g§KmZo Xþgè¶m àË¶oH$ g§Kmer gm‘Zm
Ioimd¶mMm Amho. Va EHy$U gm‘Zo {H$Vr hmoVrb?
1) 179 2) 163 3) 173 4) 153

2) 18 teams have registered their names for the cricket competition. Every team has to play a match

with another team. How many total matches will there be?

1) 179 2) 163 3) 173 4) 153

3)  A ¶m boIH$mMr 5 doJdoJir nwñVHo$, B ¶m boIH$mMr 3 doJdoJir nwñVHo$ Am{U C ¶m boIH$mMr 6 doJdoJir nwñVHo$
AmhoV. ¶mVrb {H$‘mZ EH$ nwñVH$ {H$Vr àH$mao dmMH$mbm XoVm ¶oB©b Vr g§»¶m {ZdS>m.
1) 210 - 1 2) 211 -1 3) 212 -1 4) 214 -1

3) There are 5 different books by author A, 3 different books by author B and 6 different books by

author C. Select the number of ways in which at least one book can be given away to a reader.

1) 210 - 1 2) 211 -1 3) 212 -1 4) 214 -1

4) EH$m {H«$Ho$Q> ñnY}V 21 g§K gh^mJr Pmbo hmoVo. àË¶oH$ g§KmMm àË¶oH$ Xþgè¶m g§Kmer EH$ gm‘Zm hmoD$Z Ë¶mVrb Mma
g§K {ZdS>bo. Ë¶m Mma g§Km§Mm nwÝhm àË¶oH$mer gm‘Zm Pmbm d eodQ>r XmoZ {ZdSy>Z Ë¶m§À¶mV EH$ gm‘Zm Pmbm. Va Ë¶m
ñnY}V EHy$U {H$Vr gm‘Zo Ioibo Jobo?
1) 217 2) 144 3) 219 4) 90

4) 21 teams participated in a cricket tournament. Every team played one match against another team.

The four teams selected from these matches played one match against each other. Finally two

teams were selected which played one match. How many matches were played in the tournament?

1) 217 2) 144 3) 219 4) 90

5) ~w{Õ~i ñnY}V ghmn¡H$s àË òH$ IoimSy> àË òH$ Xwgè`m IoimSy>er EH$XmM Ioiob. ñnY}Xaå`mZ {H$Vr gm‘Zo Ioidbo
OmVrb?
1) 12 2) 15 3) 30 4) 36

5) In a Chess tournament each of six player will play every other player exactly once. How many

matches will be played during the tournament?

1) 12 2) 15 3) 30 4) 36
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4) doZ AmH¥$Ë¶m
1) 73 {dÚmWu Agboë¶m dJm©Vrb H$mhr {dÚmWu Ho$di {JQ>ma Am{U H$mhr Ho$di ~mgar dmOdy eH$VmV. AH$am {dÚmWu

{JQ>ma Am{U ~mgar XmoÝhr dmOdy eH$VmV. Oa {JQ>ma dmOdy eH$Umè¶m {dÚmÏ¶mªMr g§»¶m 31 Agob Va Ho$di ~mgar
dmOdy eH$Umè¶m d Ho$di {JQ>ma dmOdy eH$Umè¶m {dÚmÏ¶mªMr g§»¶m {H$Vr ?
1) 43 d 21 2) 42 d 21 3) 42 d 22 4) 42 d 20

1) In a class of 73 students, some students can play only Guitar & some can play only Flute. Eleven

students can play both Guitar & Flute. If the Number of students who can play Guitar is 31. Then

how many students can play only Flute & how many can only play Guitar ?

1) 43 and 21 2) 42 and 21 3) 42 and 22 4) 42 and 20

2) ~±Ho$Vrb ̂ aVrgmR>r 20 àíZm§Mr EH$ narjm KoÊ¶mV Ambr. Ë¶m narjoV àË¶oH$ ~amo~a ¶oUmè¶m CÎmamgmR>r 5 JwU {‘iVmV
Va àË¶oH$ MwH$boë¶m CÎmamgmR>r 2 JwU H$‘r hmoVmV. ñn§XZbm Ë¶m narjoV ’$º$ 10 àíZ ~amo~a gmoS>{dVm Ambo Va
Ë¶mbm {H$Vr JwU {‘iVrb ?
1) 20 2) 30 3) 40 4) 50

2) An examination of 20 questions is taken for Bank recruitment. 5 marks are awarded for the correct

answer and 2 marks are deducted for the wrong answer. Spandan has solved 10 questions correctly

in that examination, then what will be his score in examination ?

1) 20 2) 30 3) 40 4) 50

3) emioVrb gd© 100 ‘wbtZm Z¥Ë`, Jm¶Z Am{U dmXZ ¶mVyZ ñdV…Mm CnH«$‘ {ZdS>Ê¶mMr ‘ŵ m Amho. EH$mhr ‘wbrZo VrZ
CnH«$‘m§V ̂ mJ KoVbobm Zmhr. 50 ‘wbtZr ’$º$ Z¥Ë¶mMr {ZdS> Ho$br Amho Va 15 ‘wbtZr ’$º$ dmXZmMr {ZdS> Ho$br Amho.
25% ‘wbtn¡H$s àË¶oH$s XmoZ CnH«$‘m§Mr {ZdS> Ho$br Amho.
’$º$ Jm¶Z CnH«$‘m§V gh^mJr Agboë¶m ‘wbtMr g§»¶m {ZdS>m.
1) 5 2) 10 3) 15 4) 20

3) All the 100 girls in the school are allowed to choose their own activities from dancing, singing

and playing. No girl has participated in three activities. 50 girls have chosen dance only while 15

girls have chosen music only. 25% of the girls have chosen two activities each.

Select the number of girls participating in singing activities only.

1) 5 2) 10 3) 15 4) 20

4) EH$m H«$sS>m ‘§S>imV EHy$U 240 IoimSy> AmhoV. Ë¶mn¡H$s 15 Q> o̧$ ìhm°cr~m°c, ~m°ñHo$Q>~m°c Am{U {H«$Ho$Q> ho {VÝhr Ioi Ioiy
eH$VmV. ¶m Ioim§n¡H$s H$moUVohr XmoZ Am{U ’$º$ XmoZ Ioi IoiUmao IoimSy>hr ¶mV AmhoV d Ë¶m§Mr g§»¶m 60 Amho. ’$º$
ìhm°cr~m°c IoiUmè¶m IoimSy>§Mr g§»¶m 80 Amho. ’$º$ ~mñHo$Q> ~m°cM IoiVmV qH$dm ’$º$ {H«$Ho$Q>M IoiVmV, Aem EHy$U
IoimSy>§Mr g§»¶m {H$Vr ?
1) 60 2) 58 3) 63 4) 64

4) Out of a total of 240 players in a sports club 15% can play all three games-Volleyball, Basketball

and Cricket. It so happens that the number of players who can play any two and only two of the

above games is 60. The number of players who can play the Volleyball alone is 80. What is the

total number of those who can play Basketball alone and or Cricket alone ?

1) 60 2) 58 3) 63 4) 64
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5) gd© {dÚmÏ¶mªÀ¶m JQ>mV 3/5 ‘wcr AmhoV Am{U ¶mVrc 1/3 ‘wctZr B§J«Or‘Ü¶o 75% À¶m da JwU {‘idco. Oa 15
‘wctZr B§J«Or‘Ü¶o 75% À¶m da JwU {‘idco AgVrc Va ‘wcr Zgcoë¶m {dÚmÏ¶mªMr g§»¶m Xe©dUmam n¶m©¶ {ZdS>m.
1) 75 2) 90 3) 60 4) 30

5) In a group 3/5 of all students are girls and 1/3 of girls scored above 75% marks in English. If 15

girls have scored above 75% in English, then select the option that indicates the number of students

who are not girls.

1) 75 2) 90 3) 60 4) 30

6) EH$m ³b~‘Ü¶o 80 IoimSy> AmhoV. Ë¶mVrb 36 IoimSy> H$~È>r IoiVmV d 48 IoimSy> {H«$Ho$Q> IoiVmV. Oa 12 IoimSy>
H$~È>r d {H«$Ho$Q> ho XmoÝhrhr Ioi IoiV AgVrb Va {H$Vr Q> o̧$ IoimSy> H$~È>r AWdm {H«$Ho$Q> IoiV ZmhrV?
1) 20% 2) 15% 3) 10% 4) 5%

6) There are 80 players in a club , of which 36 play Kabaddi and 48 play Cricket. if 12 players play

both Kabaddi and Cricket, what is the percentage of players who do not play either Kabaddi or

Cricket ?

1) 20% 2) 15% 3) 10% 4) 5%

7) EH$m JmdmVrb 800 bmoH$m§n¡H$s 288 bmoH$ Mhm KoVmV, 188 H$m°’$s KoVmV d 324 XÿY KoVmV. EHy$U bmoH$m§n¡H$s 84 XÿY
d Mhm KoVmV. 80 H$m°’$s d XÿY, 100 H$m°’$s d Mhm hr XmoÝhr no¶o KoVmV. 20 bmoH$ VrZhr no¶o KoVmV. Va EH$hr no¶
Z KoUmè¶m bmoH$m§Mr g§»¶m {H$Vr ?
1) 576 2) 468 3) 332 4) 244

7) In a village, 288 people out of 800 drink tea, 188 people drink coffee and 324 people drink milk.

84 out of total people drink milk and tea, 80 people coffee and milk, 100 people coffee and tea,

20 people drink all the three drinks. Then what is the number of people who don’t take any drink?

1) 576 2) 468 3) 332 4) 244

8) EH$m 70 ì¶º$s¨À¶m JQ>mV, 28 ì¶º$s ’$º$ Mhm {nVmV, 32 ì¶º$s Mhm d XÿY {nVmV Va ’$º$ XÿY {nUmè¶m§Mr g§»¶m
{H$Vr ?
1) 12 2) 10 3) 14 4) 38

8) In a group of 70 persons, 28 drinks only tea, 32 drinks both tea and milk, how many persons

drinks milk only ?

1) 12 2) 10 3) 14 4) 38

9) {eewdJm©V 50 {dÚmWu AmhoV. H$mhr {dÚmWu ’$º$ B§J«Or ~mobVmV Am{U H$mhr ’$º$ qhXrVyZ g§dmX gmYVmV. 10
{dÚmWu ¶m XmoÝhr ̂ mfm§VyZ AñI{bVnUo g§dmX gmYVmV. Oa B§J«OrV g§dmX gmYUmè¶m§Mr g§»¶m 21 Agob Va AZwH«$‘o
qhXr ~mobUmè¶m§Mr ’$º$ qhXr ~mobUmè¶m§Mr d ’$º$ B§J«Or ~mobUmè¶m§Mr g§»¶m Xe©dUmam n¶m©¶ {ZdS>m.
1) AZwH«$‘o 21, 11 d 29 2) AZwH«$‘o 27, 18 d 22
3) AZwH«$‘o 37, 27 d 13 4) AZwH«$‘o 39, 29 d 11

9) There are 50 students in the nursery class. Some students can speak English only and some

can converse in only Hindi. 10 students can converse fluently in both these languages. If number

of students conversing in English is 21 then select the option indicating the number of student

those speak Hindi, number of students those only Hindi and number of students those can

speak only English respectively.
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1) 21, 11 and 29 respectively 2) 27, 18 and 22 respectively

3) 37, 27 and 13 respectively 4) 39, 29 and 11 respectively

10) dJm©Vrb {dÚmÏ¶mªn¡H$s 40% ^maVmVrb AmhoV d 50% ‘wbr AmhoV. Oa 25% ^maVr¶ {dÚmWu ‘wbr AgVrb, Va
{H$Vr Q> o̧$ ^maVr¶ Zgbobo ‘wbJo dJm©V AmhoV ?
1) 33.33% 2) 40% 3) 25% 4) 20%

10) 40% of the students in a class are from India and 50% are girls. If 25% of the Indian students are

girls, what percentage of non-Indian students are boys?

1) 33.33% 2) 40% 3) 25% 4) 20%

11) EH$m 100 {dÚmÏ¶m©À¶m dJm©Vrc 40 {dÚmWu J{UVmV CÎmrU© Pmco Am{U 60 {dÚmWu B§J«OrV CÎmrU© Pmco. 8 {dÚmWu
J{UV d B§J«Or ¶m XmoÝhr {df¶mV AZwÎmrU© Pmco. Va {H$Vr {dÚmWu XmoÝhrhr {df¶mV CÎmrU© Pmco ?
1) 5 2) 15 3) 8 4) 16

11) In a class of 100 students, 40 students passed in Mathematics and 60 passed in English. 8 students

failed in both Mathematics and English. How many students passed in both the subjects ?

1) 5 2) 15 3) 8 4) 16

12) B§J«Or, ‘amR>r Am{U J{UV {df`m§À`m narjobm nmMeo C‘oXdma ~gbo. Imbrb {MÌmV doJdoJù`m {df`mV AZwÎmrU©
Pmboë`m C‘oXdmam§Mr g§»`m {Xbr Amho.

{H$‘mZ XmoZ {df`mV Zmnmg Pmboë`m C‘oXdmam§Mr Q> o̧$dmar {H$Vr Amho?
1) 0.078 2) 1.0 3) 6.8 4) 7.8

12) Five hundred candidates appeared in an examination comprising English, Marathi and Mathematics

subjects. The following diagram gives the number of candidates who failed in different subjects.

What is percentage of candidates who failed in at least two subjects?

1) 0.078 2) 1.0 3) 6.8 4) 7.8
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7) ~rOJ{UV, ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr

1) ~rOJ{UV, g‘rH$aUo
2) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr

1) ~rOJ{UV, g‘rH$aUo

1) gmoS>dm … 
 
 = ?

1) x - y 2) x+y 3) x2-y2 4) x2+y2

1) Solve :  
 = ?

1) x -y 2) x+y 3) x2-y2 4) x2+y2

2) x, x =   Mo ‘yë` emoYm.

n`m©̀  CÎmao :
1) 16 2) 25 3) 21 4) 10

2) Find the value of x, x = 

Answers Options :

1) 16 2) 25 3) 21 4) 10

3) Oa a * b = a2 + b2 - ah, Agob Va 9 * 11 = ?
n`m©̀  CÎmao :
1) 99 2) 100 3) 102 4) 103

3) If a * b = a2 + b2 - ah, then 9 * 11 = ?

Answers Options :

1) 99 2) 100 3) 102 4) 103

4) Imbrb g‘rH$aUmVrb x Mr qH$‘V H$mT>m …

1) 16 2) 4 3) 64 4) 256
4) Find the value of x in the following equation :

1) 16 2) 4 3) 64 4) 256
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5) Oa X, Y Am{U Z ho Mb ’$º$ 1, 2, 3, 4, 5, 6 Am{U 7 ¶m {H$‘VtMo AgVrb, Va X + Y + Z = 12 ¶m
g‘rH$aUmÀ¶m CH$btMr g§»¶m {ZdS>m.
1) 36 2) 37 3) 38 4) 31

5) If variables X, Y and Z can only take values 1, 2, 3, 4, 5, 6 and 7, then select the number of

solutions of the equation X + Y + Z = 12.

1) 36 2) 37 3) 38 4) 31

2) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
1) Imbrb AmH¥$Vr‘Ü ò {H$Vr aofmI§S> AmhoV?

n`m©̀  CÎmao :
1) 6 2) 4 3) 10 4) 8

1) How many line segments are there in the following figure ?

Answers Options :

1) 6 2) 4 3) 10 4) 8

2) EH$m 14 g|.‘r. {ÌÁ¶oÀ¶m dVw©imVrb EH$m nmH$irÀ¶m H§$gmMo A§emË‘H$ ‘mn 450 Agob Va nmH$irMo joÌ’$i {H$Vr?
1) 77 2) 78 3) 67 4) 60

2) In a 14 cm. If the fractional measure of an arc of a petal in a circle of radius is 450, what is the area

of the petal ?

1) 77 2) 78 3) 67 4) 60

3) EH$ dVw©imH$ma MmbÊ¶mMm ‘mJ© Amho Am{U Ë¶mÀ¶m ~mø H$S>oZo O, P, Q, R, S, T, U d V Aer Zm‘{ZX}eZo Agbobr
AmR> PmS>o g‘mZ A§Vamda bmdbobr AmhoV. X hr ì¶º$s EH$g‘mZ JVrZo t ¶m H$mbmdYrV O Vo Q BVHo$ A§Va MmbVo.
Ë¶mM doir Y hr ì¶º$s EH$g‘mZ JVrZo t ¶m H$mbmdYrV S n¶ªVMo A§Va P nmgyZ MmbVo. ¶m XmoÝhr ì¶º$s¨Zr EH$m {XeoZo
d EH$mM jUr Mmbm¶bm gwédmV Ho$br. Mmbm¶bm gwédmV Ho$ë¶mZ§Va ¶m XmoZ ì¶º$s X Am{U Y, EH$m q~Xÿnmer Á¶m
doir AgVrb {VMr {ZdS> H$am.
1) 5t 2) 6t 3) 7t 4) 8t

3) There is a circular jogging track and on its periphery eight plants labelled O, P, Q, R, S, T, U and V

are planted at equal distance. Person X walks from plant O to Q with uniform speed in time t. At

the same time, Person Y walks to S from P with uniform speed in time t. Both the persons started

walking in the same direction and at the same instance. Select the time after the start at which

persons X and Y will be at the same point.

1) 5t 2) 6t 3) 7t 4) 8t
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4) Oa EH$m dVw©imV {dembH§$gmMo ‘mn ho Ë¶mÀ¶m bKwH§$gmÀ¶m ‘mnmÀ¶m nmMnQ>rnojm 480 Zo A{YH$ Amho Va Ë¶mÀ¶m
{dembH§$gmMo ‘mn {H$Vr ?
1) 520 2) 3080 3) 3120 4) 1320

4) If measurement of major arc of a circle is more than 480 of 5 times of its minor arc then

what is the measurement of major arc of a circle ?

1) 520 2) 3080 3) 3120 4) 1320

5) aVZMo Mm¡agmH$ma Zo‘Ho$ EH$ ho³Q>a eoV Amho. gmo‘dmar Ë¶mbm ¶m eoVmÀ¶m ‘Ü¶mda nañnam§nmgyZ 1 ‘rQ>a dmT>V
Agbobr 4 ̂ yN>Ìo nmhÿZ AmíM¶© dmQ>bo. ‘§Jidmar ¶m ̂ yN>Ìm§Mr g§»¶m 16 n¶ªV dmT>bobr Am{U Vr gJir nañnam§nmgyZ
1 ‘rQ>a A§Vamda hmoVr. AmO Ooìhm Ë¶mZo ŷN>Ìm§À¶m JQ>mH$S>o nm{hbo Voìhm Ë¶m§Mm {dñVma 36 Pmbm hmoVm. Oa AmO
~wYdma Agob Va Am{U Oa ¶mM JVrZo ŷN>Ìm§Mo joÌ {dñVmaV am{hbo Va aVZMo eoV Hw§$nU dJiyZ nyU©nUo ì¶mnyZ
Q>mH$m¶bm bmJUmè¶m AmUIr {Xdgm§Mr g§»¶m AmOÀ¶m {Xdgmgh {ZdS>m.
1) 100 2) 50 3) 48 4) 45

5) Ratan has square field which is exactly one hectare. On Monday he was surprised to find 4

mushrooms growing on a 1 m square formation, in the centre of his field. On Tuesday the group

of mushrooms had expanded to 16, which were all 1 m apart. When he looked at the group of

mushrooms today it had expanded to 36. If today is Wednesday, and if area covered by mushrooms

continues to expand at this rate select the number of more days including today, are required to

cover Ratan’s field completely except touching its fence.

1) 100 2) 50 3) 48 4) 45

6) gm¡a^H$S>o {ÌH$moUr d Mm¡H$moZr Aem XmoZ AmH$mam§Mo 25 H$mJX AmhoV. Ë¶m§À¶m H$moZm§Mr g§»¶m 88 Amho. Va Ë¶mn¡H$s
{ÌH$moUr H$mJX {H$Vr d {ÌH$moUm§À¶m H$moZm§Mr g§»¶m {H$Vr ?
1) 9, 27 2) 11, 33 3) 12, 36 4) 13, 39

6) Sourabh has 25 pieces of paper of triangular and rectangular in shape. The total number of angles

is 88. Then how many are triangular shaped pieces of paper and the number of angles of triangles?

1) 9, 27 2) 11, 33 3) 12, 36 4) 13, 39

7) Imbrb AmH¥$Ë¶m§Mo {ZarjU H$am …

1) gd© AmH¥$Ë¶m§Mo joÌ’$i {^Þ Amho.
2) gd© AmH¥$Ë¶m§Mo joÌ’$i g‘mZ Amho.
3) gd© AmH¥$Ë¶m§Mr n[a{‘Vr g‘mZ Amho.
4) AmH¥$Vr (A) d (B) Mr n[a{‘Vr g‘mZ Amho.
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7) Observe the following diagrams :

1) The area of all diagrams are different.

2) The area of all diagrams are same.

3) The perimeter of all diagrams are same.

4) Diagram (A) and (B) have the same perimeter.

8) EH$m àVcmV 8 q~Xÿ AmhoV, Ë¶mVrc H$moUVohr VrZ q~Xÿ EH$aofr¶ ZmhrV. EH$m doir XmoZ q~XÿZm OmoS>Umè¶m aofm H$mT>ë¶m,
Va Aem {H$Vr aofm H$mT>Vm ¶oVrc ?
1) 25 2) 29 3) 27 4) 28

8) There are 8 points in a plane, no three of which are collinear. If lines are drawn by joining two

points, how many such lines would have been drawn ?

1) 25 2) 20 3) 27 4) 2S
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8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr
1) Vºo$
2) AmboI

1) Vºo$
1) Imbrb gmaUr‘Ü¶o Xe©{dë¶mà‘mUo, EH$m bKw Am¡Úmo{JH$ ¶w{ZQ>‘Ü¶o H$m‘mMo Vmg d H$‘©Mmè¶m§Mr g§»¶m Imbrbà‘mUo

Amho.
H$m‘mMo Vmg H$‘©Mmè¶m§Mr g§»¶m

3-5 7
5-7 10
7-9 18
9-11 57
11-13 14
13-15 8

Va EH$m H$‘©Mmè¶m§Mo gamgar H$m‘mMo Vmg {H$Vr AmhoV ?
1) 9-5 2) 10-22 3) 11 4) 12

1) The following table shows number of working hours and number of employees in a small scale

industrial unit.

Number of working hours Number of Employees

3-5 7

5-7 10

7-9 18

9-11 57

11-13 14

13-15 8

What are the average working hours of an employee ?

1) 95 2) 10-22 3) 11 4) 12

2) nwT>rb ‘m{hVr amÁ¶m§Mo joÌ’$i d bmoH$g§»¶o~m~VMr Amho.

gdm©V OmñV XmQ> bmoH$g§»¶m AgUmao amÁ¶ H$moUVo?
1) A 2) B 3) C 4) D

2) The following is the information of Area and Population of States.

Which is the most thickly populatdd State ?

1) A 2) B 3) C 4) D
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3) Am¶oem nXdrgmR>r 1950-2010 ¶m H$mbI§S>mVrb gm{hË¶mMm Aä¶mg H$aV Amho. Aä¶mgmgmR>r {VZo nwñVH$ IaoXr
H$aÊ¶mMo R>adbo. ñWm{ZH$ XþH$mZmV CnbãY Agboë¶m g§~§{YV Aem nmM nwñVH$m§Mr ‘m{hVr Imbr {Xbobr Amho.

 erf©H$ g‘m{dï> H$mbI§S> nwÇ>m ~m§YUr? {ddaUmg{hV? qH$‘V?

'20th and 21st Century Literature' 1950-2020 Amho Zmhr é. 450
The Illustrated Guide to Literature 1900-2020 Zmhr Amho é. 500
Beginners' Guide to Literature 1850-2010 Zmhr Zmhr é. 400
Literature For All 1850-2000 Amho Amho é. 550
All About Literature 1800-2020 Amho Zmhr é. 600

Xþgè¶m {Xder ñdV…À¶m Cn¶moJmMo gdm©V ñdñV nwñVH$ IaoXr H$aÊ¶mgmR>r Vr Zo‘H$s amoH$S> KoD$Z XþH$mZmV Jobr. VoWo
gd© nwñVH$m§Mr 20% Q> o̧$ H$‘r XamZo {dH«$s gwê$ hmoVr. åhUyZ {VZo Odi Agboë¶m n¡em§VyZ ñdV…À¶m Cn¶moJmMo gdm©V
{H$‘Vr nwñVH$ KoVbo.
Am¶oemH$S>o Cabobr a¸$‘ {ZdS>m.
1) é. 90 2) é. 50 3) é. 10 4) é. 130

3) Aisha is studying literature of the period 1950 - 2010 for her graduation. She decided to buy a

book to help her with studies. Information about 5 different related books which are available at

the local shop is given below.

 Title Period covered Hardback? Ilustrated ? Price?

'20th and 21st Century Literature' 1950-2020 yes no Rs. 450

The Illustrated Guide to Literature 1900-2020 no yes Rs. 500

Beginners' Guide to Literature 1850-2010 no no Rs. 400

Literature For All 1850-2000 yes yes Rs. 550

All About Literature 1800-2020 yes no Rs. 600

Select the amount of Rs. that is left over with Aisha.

1) 90 2) 50 3) 10 4) 130

4) EH$m emioÀ¶m B¶Îmm ZddrÀ¶m {dÚmÏ¶mªÀ¶m A, B, C, D ¶m Mma VwH$S>çm AmhoV. Imbr {Xboë¶m V³Ë¶mV ghm‘mhr Am{U
dm{f©H$ narjoMm {ZH$mb Xe©{dbm Amho.

Va dm{f©H$ narjoV H$moUË¶m VwH$S>rMo nmg hmoÊ¶mMo à‘mU gdm©V OmñV Amho?
1) B 2) A 3) D 4) C
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4) A school has four divisions A, B, C and D of ninth standard students. The results of half-yearly and

annual examinations are shown in table given below.

Which division has the maximum passing rate in the annual examinations ?

1) B 2) A 3) D 4) C

5) emioV ¶oÊ¶mgmR>r {dÚmWu Imbrb XiUdiUmMm Cn¶moJ H$arV AgVrb Am{U hr ‘m{hVr Oa nm¶ MmQ>© Ûmam
XmIdÊ¶mV Ambr Va emioV nm¶r ¶oUmè¶m {dÚmÏ¶m©gmR>r {H$Vr A§emMm H$moZ V¶ma hmoB©b ?

1) 600 2) 300 3) 720 4) 800

5) The students are using following transportation for school and if this information is shown in a

Pie-chart then how many degree’s angle will be made for students who are coming by walking ?

1) 600 2) 300 3) 720 4) 800
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2) AmboI
1) ‘hmamï´>mVrb {d{dY {dÚmnrR>m§‘YyZ df© 2016 ‘Ü¶o nrEM.S>r. àXmZ Ho$boë¶m {dÚmÏ¶mªMr g§»¶m 7500 AgyZ Vr

Imbrb dVw©imboImÀ¶m ghmæ¶mZo Xe©{dbr Amho. {dÚmnrR> D d F ‘YyZ nrEM.S>r. àXmZ Ho$boë¶m EHy$U {dÚmÏ¶mªMr
g§»¶m hr B d G {dÚmnrR>mVyZ nrEM.S>r. àXmZ Ho$boë¶m EHy$U {dÚmÏ¶mªnojm .............. Zo OmñV Amho.

1) 120 2) 2300 3) 3900 4) 1200

1) Ph.D in the year 2016 from various universities in Maharashtra. The number of students provided

is 7500 and it is shown with the help of circle diagram below. Ph.D from the university The total

number of students awarded is Ph.D. is more than the total number of students provided by ..........

1) 120 2) 2300 3) 3900 4) 1200
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2) ‘Ëñ¶mb¶ nmhÊ¶mMo Xa nwT>rbà‘mUo AmhoV … àm¡T> - é. 7, ‘wbo - é. 4 Á¶oð> ZmJ[aH$ - é. 5. Ooìhm AmOMo àdoe
~§X Pmbo Voìhm O‘m Pmbobr àË¶oH$ JQ>mMr àdoe a¸$‘ nwT>rb V³Ë¶m§V XmIdë¶mà‘mUo hmoVr.

àË¶oH$ JQ>mÀ¶m AmOÀ¶m àdoe aH$‘m§Mo gdm©V OdiMo à{Vê$nU H$aUmam dVw©iI§S>mË‘H$ AmboI {ZdS>m.

1) 2) 3) 4) 

2) Aquarium charges for visitors are as follows: ‘Adults - % 7, Children - & 4, Senior citizens - 7 5.

When aquarium closed entries for today, the total charges collected as per age groups are shown

in the accompanying chart. Select the pie chart that shows number of visitors in each age group

that paid for entry today.

1) 2) 3) 4) 
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3) amonm§Zm nmUr XoÊ¶mgmR>r dmnaë¶m OmUmè¶m ^m§S>çmÀ¶m {N>ÐmMr à{V‘m gmo~VÀ¶m AmH¥$VrV Xe©{dbr Amho. ^m§S>çmV nmUr
^ê$Z Vo amonmda Q>m§Jbo OmVo. Ë¶m ^m§S>çmÀ¶m Vimbm {N>Ð AgVo d Ë¶mVyZ pñWa JVrZo nmUr JiV ahmVo. ^m§S>o nmÊ¶mZo
nyU© ̂ abobo AgVm, ¶m à{H«$¶oMo {ZarjU H$aUmè¶m Mma ‘wbm§Zr, doi OmVm OmVm ̂ m§S>çmVrb nmÊ¶mMr Imobr H$er ~XbV
OmVo ho XmIdUmao AmboI H$mT>bo AmhoV.
{Xbobr ‘m{hVr CÎm‘ àH$mao à{Vê${nV H$aUmam AmboI {ZdS>m.

n¶m©¶r CÎmao …

      1)         2)          3)             4)
3) The accompanying image shows the cross-section of a container that is used to water plants. The

container is filled with water and is suspended above a houseplant. There is a small hole at the

bottom of the container, through which the water: trickles down at a constant rate. Four children

were observing this process and drew a graph to show how the depth of water in the container

changes with time, from when it is completely full of water. ;

Select the graph that best represents the given information.

Answer Options :

n¶m©¶r CÎmao …

       1)            2)             3)               4)
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4) narbm emioVyZ EH$ àmoOo³Q> {‘imbm. Ë¶mV {Vbm {dÚmÏ¶mªZm AmdS>Umè¶m {df¶m~Ôb ‘m{hVr O‘m H$amd¶mMr hmoVr. {VZo
800 {dÚmÏ¶mªH$Sy>Z ‘m{hVr O‘m Ho$br Va ‘amR>r {df¶ AmdS>Umao {H$Vr {dÚmWu AmhoV ?

1) 4 2) 32 3) 1440 4) 40
4) Pari got a project from her school. In which she has to collect the information regarding favourite

subjects of the students. She collected data from total 800 students, How many students like

Marathi subject ?

1) 4 2) 32 3) 1440 4) 40

5) nmM g‘mZ H$mbm§VamVrb JmS>rÀ¶m JVrMr AmboI à{V‘m gmo~V {Xbr Amho. EHy$U àdmgmV JmS>rMr gdm©V H$‘mb JVr
XmIdUmam H$mbI§S> {ZdS>m.

1) do2 - do3 2) do3 - Mo4 3) do4 - do5 4) do1 - do2
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5) A graph of the speed of a car at five equal time intervals is given along with the image. Select the

period showing the maximum speed of the train in the total journey.

1) W
2
 - W

3
2) W

3
 - W

4
3) W

4
 - W

5
4) W

1
 - W

2

6) {d{dY aoëdo JmS>çm§‘Yrb àdmem§Mo eoH$S>m à‘mU nwT>rb dVw©iI§S>mV Xe©{dbo Amho.

àdmem§Mr EHy$U g§»¶m = 8500 Amho Va JmS>r S, M Am{U L ¶m§Mr {‘iyZ gamgar àdmer g§»¶m {H$Vr?
1) 1524 2) 1641 3) 1672 4) 1651

6) The percentage distribution of Passengers in different trains are shown in the following pie-

chart.

Total number of passengers = 8500. What is the average number of passengers in Trains S, M and

L togather

1) 1524 2) 1641 3) 1672 4) 1651
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7) Imbrb dVw©imboI EH$m ehamVrb gmja d {Zarja-nwéf d ‘{hbm ¶m§Mr eoH$S>odmar Xe©{dVmo. gmja d {Zarja-nwéf
d ‘{hbm§Mr EHy$U g§»¶m 3,50,000 Amho. Va gmja nwéf d gmja ‘{hbm ¶m§À¶m g§»¶oV {H$Vr ’$aH$ Amho ?

1) 28,000 2) 1,29,500 3) 1,15,500 4) 14,000
7) The following pie-chart shows percentage of literate and illiterate-male and female in city. Total

number of literate and illiterate - male and female is 3,50,000. What is the different between

number of literate male and literate female ?

1) 28,000 2) 1,29,500 3) 1,15,500 4) 14,000

8) VrZ {‘Ìm§À¶m ImË¶m§V dfm©À¶m gwédmVrbm Agbobr a¸$‘ gmo~VÀ¶m ñV§̂ mboImV XmIdë¶mZwgma hmoVr. AmVmn¶ªV
Ë¶m§Zr g‘mZ a¸$‘ IM© Ho$br Amho Am{U gbr‘À¶m ImË¶mVrb a¸$‘ {Zå‘o Pmbr Amho.
n¶m©¶mVyZ Ë¶m§À¶m ImË¶m§Vrb AmVmÀ¶m aH$‘m§Mo gdm©V OdiMo Agy eH$Umao dVw©i I§S>mË‘H$ à{Vê$nU {ZdS>m.

1) 2)
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3) 4) 

8) Money in the accounts at the beginning of the year that three friends had as shown in the

accompanying bar graph. They did spend equal amount till now from their accounts and the

account of Salim is halved.

Select from the options that would represent the pie chart that most closely represents amount

in their account now .

1)  2) 

3)  4) 

9) H$mhr nwñVH$m§Mr Oa àH$meH$mZo ‘wÐU IM© é. 30,600 Ho$bm, Va Ë¶m nwñVH$m§gmR>r J«§Wà{gÕr h¸$m nmoQ>r {H$Vr a¸$‘
IMu nS>ob ?

1) é. 19,450 2) é. 21,200 3) é. 22,950 4) é. 26,150
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9) If for a certain quantity of books, the publisher has to pay Rs. 30,600 as printing cost, then what

will be the amount of royalty to be paid for these books ?

1) Rs. 19,450 2) Rs. 21,200 3) Rs. 22,950 4) Rs. 26,150

10) nwT>rb AmboI EH$m {dH«o$¶ dñVyÀ¶m ‘m{gH$ qH$‘Vr XmIdVmo.
XmIdboë¶m ‘m{hVrMm Cn¶moJ H$ê$Z n¶m©¶m§Vrb MwH$sMo {dYmZ {ZdS>m.

1) Am°³Q>mo~a-Zmoìh|~a Xaå¶mZ {dH«o$¶ dñVyÀ¶m qH$‘VrV gdm©V OmñV ~Xb Pmbm.
2) OmZodmar-’o$~«wdmar Xaå¶mZ {dH«o$¶ dñVyÀ¶m qH$‘Vr H$mhrem pñWa hmoË¶m.
3) ’o$~«wdmarZ§Va {dH«o$¶ dñVyÀ¶m qH$‘Vr 40 én¶m§nojm H$‘r hmoVrb Aer AQ>H$i ~m§YVm ¶oVo.
4) gßQ>|~a ‘{hÝ¶mV dñVyÀ¶m qH$‘Vr 30 Vo 40 én¶m§Xaå¶mZ H$moR>oVar hmoË¶m.

10) Following graph shows month-wise prices of certain commodity.

Select the false statement from given options using information depicted.
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1) The prices of the commodity were highly varied during October-November.

2) The prices of the commodity were somewhat steady during January-February.

3) It can be predicted that the prices of commodity will be lower than T 40 after February.

4) The prices of the commodity were somewhere between T 30 to 40 in September.

11) EH$m XoemVrb A, B, C, D, E d F ¶m amÁ¶m§V {ó¶m§darb AË¶mMmam§À¶m Zm|Xdboë¶m JwÝøm§Mr 2018 gmbMr Q> o̧$dmar
XmIdUmam dVw©ijoÌ AmboI d gmo~VMr ‘m{hVr Aä¶mgm. Zm|Xdboë¶m JwÝøm§Mr EHy$U g§»¶m 210000 hmoVr.
Oa àË¶oH$ amÁ¶mVrb JwÝøm§À¶m ñdê$nmMo JwUmoÎma gmaIoM Agob Am{U EHy$U JwÝøm§V hþ§S>m~itMr Zm|Xdbobr Q> o̧$dmar
9 Agob Va E amÁ¶mVrb hþ§S>m~itMr g§»¶m B amÁ¶mnojm H$‘r Agboë¶m Q> o̧$dmarMr {ZdS> H$am.

1) 25% 2) 21% 3) 16,2/3% 4) 16%
11) Study the pie chart of percentage showing crime against women in states A, B, C, D, E and F of

certain country in the year 2018 and accompanying information. Total numbers of cases

registered crime were 210000.

If the proportion of nature of crime remains the same for each state and percentage of dowry

death cases registered is 9 then select the percentage by which dowry death cases in state E is

less than that in state B ?

1) 25% 2) 21% 3) 16,2/3% 4) 16%
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For Private Circulation Only

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` ‘mZ{gH$ j‘Vm

(1) A§H$J{UVr¶ H$m¡eë¶ Am{U g§»`màUmbr

1) g§»`màUmbr

1-4 2-2 3-4 4-2 5-3 6-3
7-2 8-2 9-x 10-x

2) bgm{d Am{U ‘gm{d
1-4 2-3 3-2

3) KmVm§H$, dJ©‘yi Am{U KZ‘yi
1-2 2-2 3-3 4-2 5-2 6-1
7-x 8-x

4) A§H$J{UVr¶ H$m¡eë¶ - ~oarO,
dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U

gabrH$aU

1-2 2-1 3-x 4-1 5-3 6-1

7-3 8-1 9-3 10-2

5) AnyUmªH$ Am{U Xem§e AnyUmªH$
1-3 2-3 3-3 4-2 5-3 6-2

7-3 8-x 9-4

2) Q>̧ o$dmar, m̂JrXmar Am{U
Jw§VdUyH$, JwUmoÎma Am{U à‘mU,

gmIir {Z`‘

1) Q>̧ o$dmar
1-2 2-1 3-3 4-2 5-1 6-2
7-3 8-1 9-x 10-x 11-x

2) JwUmoÎma Am{U à‘mU
1-2 2-3 3-3 4-3 5-4 6-1

7-3 8-4 9-2 10-x 11-x 12-x

3) {‘lU Am{U gmIir {Z`‘
1-1 2-2

4) ^mJrXmar Am{U Jw§VdUyH$
1-3 2-3 3-3 4-3 5-4

3) doi Am{U A§Va, aoëdoJmS>çm,
~moQ> Am{U Obàdmh

1) doJ, doi Am{U A§Va
1-1 2-2 3-3 4-4 5-1 6-2
7-4 8-1 9-3 10-3 11-4 12-1
13-x 14-x 15-x 16-x 17-x 18-x

19-x 20-x
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2) aoëdoJmS>çm
1-1 2-2 3-4 4-2 5-x

3) ~moQ> Am{U Obàdmh

1-4

4) {dH«$s Am{U IaoXr, gdbV,
Z’$m Am{U VmoQ>m, gai ì`mO

Am{U MH«$dmT> ì`mO

1) {dH«$s Am{U IaoXr, gdbV
1-1 2-3 3-3 4-1 5-1 6-3
7-3 8-1 9-1 10-3 11-1

2) Z’$m Am{U VmoQ>m
1-4 2-1 3-2 4-3 5-x 6-2
7-2

3) gai ì`mO Am{U MH«$dmT> ì`mO

1-1 2-1 3-3 4-4 5-4 6-x

4) bmoH$g§»¶m dmT>
1-2 2-4 3-x

5) doi Am{U H$m‘, nmB©n>,
KS>çmi, H°$b|S>a, d¶mdarb àíZ

1) doi Am{U H$m‘
1-1 2-2 3-2 4-3 5-4 6-2
7-2 8-3 9-3 10-2 11-1 12-1
13-1 14-x 15-x 16-x

2) nmB©n> Am{U hm¡X

1-x 2-1

3) KS>çmi Am{U doi
1-1 2-4 3-2 4-3 5-4 6-x

7-x

4) H°$b|S>a d H$mb‘mnZ
1-3 2-2 3-2 4-1 5-1 6-2
7-3 8-4 9-2 10-1 11-3 12-x

5) d¶mdarb àíZ
1-4 2-3 3-2 4-4 5-4 6-3
7-x 8-2 9-2 10-3 11-3 12-x

13-x 14-x 15-x 16-x

6) g§̂ mì`Vm, H«$‘M¶, gamgar,
doZ AmH¥$Ë¶m

1) gamgar
1-3 2-4 3-4 4-3 5-4

2) g§̂ mì`Vm
1-4 2-2 3-3 4-2 5-x 6-x

3) H«$‘M¶
1-x 2-4 3-4 4-1 5-x

4) doZ AmH¥$Ë¶m
1-4 2-2 3-2 4-4 5-4 6-3
7-4 8-2 9-4 10-4 11-3 12-x

13-x
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7) ~rOJ{UV, ŷ{‘Vr - joÌ’$i,
KZ’$i> Am{U n[a{‘Vr

1) ~rOJ{UV, g‘rH$aUo
1-1 2-x 3-x 4-3 5-2

2) ̂ y{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
1-x 2-x 3-4 4-2 5-3 6-3
7-2 8-4

8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

1) Vºo$
1-1 2-4 3-2 4-3 5-3

2) AmboI
1-x 2-3 3-3 4-2 5-1 6-3
7-4 8-3 9-3 10-3 11-3


